
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

PROPERTIES OF TRIANGLES

SOLVED EXAMPLES

1. In , if 2R= then 

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

ΔABC r1 − r ∠A =

30∘

45∘

60∘

90∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_y46iqIbnuoS4


Watch Video Solution

2. In 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC, sin2 A + sin2 B =
b2 − c2

a2

c2 + a2

b2

b2 − a2

a2 + b2

b2 − a2

4R2

a2 + b2

4R2

3. In , then the greatest

angle of the triangle is

A. 

B. 

ΔABC, if cot : cot : cot = 1: 4: 15
A

2
B

2

C

2

60∘

90∘

https://dl.doubtnut.com/l/_y46iqIbnuoS4
https://dl.doubtnut.com/l/_DrMFfRLlVN7N
https://dl.doubtnut.com/l/_4jktvwFyTvZG


C. 

D. 

Answer: C

Watch Video Solution

120∘

135∘

4. Prove that 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

=
1 + cos(A − B)cosC

1 + cos(A − C)cosB

a2 + b2

a2 + c2

a2 + b2

a2 + c2

a2 + c2

a2 + b2

a2 + b2

a2 + c2

https://dl.doubtnut.com/l/_4jktvwFyTvZG
https://dl.doubtnut.com/l/_suAPtUikrNUP


5. In  then the area of the

triangle is

A. 

B. 

C. 2

D. 3

Answer: B

Watch Video Solution

ΔABC, = = , if b = 2
a

cosA

b

cosB

c

cosC

√2

√3

6. In , if Sin A and sin B are the roots of the equation 

 then sin C=

A. 0

B. 

C. 

ΔABC

c2x2 − c(a + b)x + ab = 0,

1/2

1/√2

https://dl.doubtnut.com/l/_0TNq7LIeZhM4
https://dl.doubtnut.com/l/_gLPMzTPPInlt


D. 1

Answer: D

Watch Video Solution

7. If the sum of the squares of the sides of a triangle ABC is equal to twice

the square of its circum diameter, then =

A. 4

B. 3

C. 1

D. 2

Answer: D

Watch Video Solution

sin2 A + sin2 B + sin2 C

https://dl.doubtnut.com/l/_gLPMzTPPInlt
https://dl.doubtnut.com/l/_SowV9wxtDnbj


8. The roots of  represent two sides of a triangle. IF

the angle between them is , then the perimeter of the triangle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 2√3x + 2 = 0

π/3

2√3 + 6

2√3 + √6

3√2 + 6

3√2 + √6

9. The base of a triangle is 80 and one of the base angles is . IF the

sum of the lengths of the other two sides is 90, then the shortest side is

A. 15

B. 17

C. 19

60∘

https://dl.doubtnut.com/l/_zw7JQKKiF25z
https://dl.doubtnut.com/l/_TS8W1HcU8kVu


D. 21

Answer: B

Watch Video Solution

10. In a triangle ABC, if , then A can be equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

B = 30∘ and c = √3b

45∘

60∘

90∘

120∘

11. In a triangle ABC, if A,B, C are in A.P and b:c = , then√3: √2

https://dl.doubtnut.com/l/_TS8W1HcU8kVu
https://dl.doubtnut.com/l/_W6GiVd9kFady
https://dl.doubtnut.com/l/_Vc3c3AI9Tru4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin(2C − A) = sin(B/4)

sin(A − C) = sin(B/4)

sin(A + C) = cos 2R

cos(A − C) = sin(B/2)

12. In a  if

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC, (a + b + c)(b + c − a) = λbc

λ < 0

λ > 4

0 < λ < 4

λ > 6

https://dl.doubtnut.com/l/_Vc3c3AI9Tru4
https://dl.doubtnut.com/l/_rjIXcg8mTTqr


13. In a , if , then the ratio of the radius of the

circumcircle to that of the incircle is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC a : b : c = 4: 5: 6

7: 5

9: 5

12: 7

16: 7

14. A circle is inscribed in an equilateral triangle of side a, The area of the

square inscribed in the circle,in sq.units is

A. 

B. 

a2 /8

a2 /6

https://dl.doubtnut.com/l/_rjIXcg8mTTqr
https://dl.doubtnut.com/l/_jpQjPvCapnuN
https://dl.doubtnut.com/l/_DDuFrRlEAKxl


C. 

D. 

Answer: B

Watch Video Solution

a2 /4

a2 /2

15. In a , if p,q,r are the distances from the orthocentre to the

vertices A,B,C respectively, then a q r + b r p+ c p q =

A. p q r

B. a b c

C. 3r

D. 3(p+q+r)

Answer: B

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_DDuFrRlEAKxl
https://dl.doubtnut.com/l/_Z8RnxV0Uhu4w
https://dl.doubtnut.com/l/_AY8lbhhdu6Jv


16. A regular polygon of nine sides, each of length 2 is inscribed in a circle.

The radius of the circle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos ec
π

9

2 cos ec
π

9

sec
π

9

cot
π

9

17. IF an equilateral triangle and a regular hexagon have the same

perimeter, then the ratio of their areas is

A. 

B. 

C. 

1: 4

1: 3

2: 3

https://dl.doubtnut.com/l/_AY8lbhhdu6Jv
https://dl.doubtnut.com/l/_89SYoDz2ytmt


EXERCISE 1A

D. 

Answer: C

Watch Video Solution

2: 5

1. In , if a=5 ,b=6, sin ,then B=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC A = 5/6

π

π/2

π/3

π/4

https://dl.doubtnut.com/l/_89SYoDz2ytmt
https://dl.doubtnut.com/l/_pJAW5ToyZHVQ
https://dl.doubtnut.com/l/_xs8g7k3tHMhQ


2. In , then b=

A. 2

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if A = 75∘ , B = 45∘ , c = √3

√3

2√3

√2

3. In , if , then A=

A. 

B. 

C. 

D. 

ΔABC a = √3 + 1, b = 2, B = 45∘

30∘

60∘

75∘

45∘

https://dl.doubtnut.com/l/_xs8g7k3tHMhQ
https://dl.doubtnut.com/l/_KvyXYIWV3Gb9


Answer: C

Watch Video Solution

4. In , then c=

A. 2

B. 3

C. 4

D. 1

Answer: A

Watch Video Solution

ΔABC, if a = √3 + 1, B = 30∘ , C = 45∘

5. In , then x=

A. 

ΔABC, if A = 30∘ , b = 8, a = 6, B = sin− 1 x

1/2

https://dl.doubtnut.com/l/_KvyXYIWV3Gb9
https://dl.doubtnut.com/l/_uEGyu0NlVhII
https://dl.doubtnut.com/l/_Wvsu0vWtktLb


B. 

C. 

D. 1

Answer: C

Watch Video Solution

1/3

2/3

6. In , if A=10, R=5 then A=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC

π

π/2

π/3

π/4

https://dl.doubtnut.com/l/_Wvsu0vWtktLb
https://dl.doubtnut.com/l/_lEJjmJMHHCWi
https://dl.doubtnut.com/l/_yiXhZ2BHiopS


7. If a =2 , b = 3 c=4 then find cos A .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7/8

5/7

6/7

5/8

8. In , then c=

A. 

B. 

C. 8

D. 14

ΔABC, if a = 4, b = 5, c = 60∘

2√3

√21

https://dl.doubtnut.com/l/_yiXhZ2BHiopS
https://dl.doubtnut.com/l/_jCpGDWjVEI48


Answer: B

Watch Video Solution

9. In , then a=

A. 12

B. 13

C. 14

D. 15

Answer: B

Watch Video Solution

ΔABC if b = 20, c = 21 and sinA = 3/5

10. In , if a=4 cm,b=5 cm,c=7 cm, then =

A. 

ΔABC cos
A

2

1/√5

https://dl.doubtnut.com/l/_jCpGDWjVEI48
https://dl.doubtnut.com/l/_mXF0trV5M5Td
https://dl.doubtnut.com/l/_CfljrfHpMF54


B. 

C. 

D. 

Answer: C

Watch Video Solution

1/√2

√32/35

2/3

11. In , if a=4 cm,b=7 cm,c=9 cm, then =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC tan
A

2

1

√5

1/√20

√20

2/3

https://dl.doubtnut.com/l/_CfljrfHpMF54
https://dl.doubtnut.com/l/_qdNutF2Vr7ac
https://dl.doubtnut.com/l/_7HQO8R17ufdP


12. In , if a=13 cm, b=12 cm,c=5 cm, then =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC sin
A

2

1/√5

1/√2

√32/35

2/3

13. In 

A. 

B. 

C. 

D. 

ΔABC, if a = 3cm, b = 4cm, c = 5cm, then cos =
C

2

1/√5

1/√2

√32/35

2/3

https://dl.doubtnut.com/l/_7HQO8R17ufdP
https://dl.doubtnut.com/l/_9j84DGE23BOr


Answer: B

Watch Video Solution

14. In , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if a = 13cm, b = 14cm, c = 15cm tan =
C

2

1/√5

1/√2

√32/35

2/3

15. In  and right angled at C, then c=

A. 

ΔABC, if a = 7, b = 7√3

2/√3

https://dl.doubtnut.com/l/_9j84DGE23BOr
https://dl.doubtnut.com/l/_kCIgbMCpuoRN
https://dl.doubtnut.com/l/_ckXpG6W1Nteu


B. 

C. 8

D. 14

Answer: D

Watch Video Solution

√21

16. If the angles of a triangle are in A.P,a=2, c=4 then b=

A. 

B. 

C. 8

D. 14

Answer: A

Watch Video Solution

2/√3

√21

https://dl.doubtnut.com/l/_ckXpG6W1Nteu
https://dl.doubtnut.com/l/_4MUvgdYP0QnR
https://dl.doubtnut.com/l/_5NsWRq4uwrNC


17. The lengths of the two larger sides of a triangle are 10 and 9. If the

angles are in A.P, then the length of the third side can be

A. 

B. 

C. 5

D. 

Answer: A

Watch Video Solution

5 ± √6

3√3

√5 ± 6

18. If the angles of a triangle are  and the included side is 

, then the remaining sides are

A. 

B. 2,

C. 

30∘ , 45∘

√3 + 1

2, √2

2√3

√2, 4

https://dl.doubtnut.com/l/_5NsWRq4uwrNC
https://dl.doubtnut.com/l/_3no8wJHvznn4


D. 

Answer: A

Watch Video Solution

2, 4√3

19. If two angles of a , then the ratio of the

smallest and the greatest sides are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABCare45∘ and 60∘

(√3 − 1) : 1

√3: √2

1: √3

√3: 1

https://dl.doubtnut.com/l/_3no8wJHvznn4
https://dl.doubtnut.com/l/_P3fpxe8rwNu2


20. In a triangle if the sum of two sides is x and their product is y such

that (x+z) (x-z)=y where z is the third side of the triangle then the triangle

is

A. equilateral

B. right angled

C. obtuse angled

D. none

Answer: C

Watch Video Solution

21. IF 4,5 are two sides of a triangle and the included angle is , then its

area is

A. 3

B. 5

60∘

https://dl.doubtnut.com/l/_ZcoL7wAOUQJy
https://dl.doubtnut.com/l/_Ur9PTxWbBoNe


C. 

D. 

Answer: C

Watch Video Solution

5√3

3√3

22. IF 13,14,15 are the sides of the triangle , then the area of the triangle in

sq. unit is

A. 84

B. 72

C. 56

D. 68

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ur9PTxWbBoNe
https://dl.doubtnut.com/l/_G7eHLPP7TFhD
https://dl.doubtnut.com/l/_6zHTwdzCRLvu


23. In , then the area of the

triangle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC, if a = 2, B = 120∘ , C = 30∘

2√3

√3

√3/2

4√3

24. In , then 

=

A. 

B. 

C. 

ΔABC, if c2 = a2 + b2, 2s = a + b + c

4s(s − a)(s − b)(s − c)

s4

b2c2

c2a2

https://dl.doubtnut.com/l/_6zHTwdzCRLvu
https://dl.doubtnut.com/l/_Xu5gkNxbIWEJ


D. 

Answer: D

Watch Video Solution

a2b2

25. In , then c is the root of the

equation

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, if a = 4, b = 3∠A = 60∘

c2 − 3c − 7 = 0

c2 + 3c + 7 = 0

c2 − 3c + 7 = 0

c2 + 3c − 7 = 0

https://dl.doubtnut.com/l/_Xu5gkNxbIWEJ
https://dl.doubtnut.com/l/_3GygqqocRgFs


26. In a triangle ABC, medians AD and BE are drawn.IF

 then the area of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠D = 4, ∠DAB = π/6, ∠ABE = π/3 ΔABC

8/3

16/3

32/3√3

64/3

27. If two sides of a triangle are the roots of the equation

 and the included angle is , then the third

side is

A. 

B. 

4x2 − (2√6)x + 1 = 0 60∘

√3

√3/2

https://dl.doubtnut.com/l/_Sh36BaFYaurG
https://dl.doubtnut.com/l/_01Jpg6xuCvfP


C. 

D. 

Answer: B

Watch Video Solution

1/√3

2/√3

28. The straight roads intersect at angle of . A bus on one road is 2km.

Away from the intersection and a car on the other road is 3 km. away

from the intersection. Then the direct distance between the two vehicles

is

A. 1 km

B.  km

C. 4 km

D.  km

Answer: D

W t h Vid S l ti

60∘

√2

√7

https://dl.doubtnut.com/l/_01Jpg6xuCvfP
https://dl.doubtnut.com/l/_3sRiiZF9BU9N


Watch Video Solution

29. In , then the circumradius is

A. 4

B. 3

C. 6

D. 5

Answer: D

Watch Video Solution

ΔABC, if a = 5, A = 30∘

30. If the length of each side of an equilateral triangle is 10 cm, then its

circumradius is

A. 

B. 

10√3

3√10

https://dl.doubtnut.com/l/_3sRiiZF9BU9N
https://dl.doubtnut.com/l/_pW4l0icrzCZs
https://dl.doubtnut.com/l/_8RhbP9Hg0Mqy


C. 

D. 

Answer: D

Watch Video Solution

3/√10

10/√3

31. The diameter of the circumcircle of the triangle whose sides 61,60,11 is

A. 61

B. 60

C. 11

D. 50

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8RhbP9Hg0Mqy
https://dl.doubtnut.com/l/_rKKafVG7NS5f


32. IF the sides of a triangle ABC are 6,8,10 unit , then the radius of its

circumcentre is

A. 4

B. 3

C. 6

D. 5

Answer: D

Watch Video Solution

33. IF the perimeter of a triangle is 12 times the arithmetic mean of the

sides of its angles then its circumference=

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_3meG3f5DeFmG
https://dl.doubtnut.com/l/_PE6bblcXXdgS


D. 6

Answer: B

Watch Video Solution

34. In  then A=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if b = c = R

30∘

60∘

90∘

120∘

https://dl.doubtnut.com/l/_PE6bblcXXdgS
https://dl.doubtnut.com/l/_0DDvJeLsEIER


35. IF the area of the triangle ABC is , then its circumradius

R=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a2 − (b − c)2

(a/6)sin2(A/2)

(a/16)cos ec2(A/2)

(b/16)sin2(B/2)

(c/16)sin2(C /2)

36. If , is the area of the triangle ABC, then tan A=

A. 

B. 

C. 

D. 

Δ = a2 − (b − c)2

1

16

8

15

3

4

4
3

https://dl.doubtnut.com/l/_Evz2nbEifcq3
https://dl.doubtnut.com/l/_9WygBBJSo4ex


Answer: B

Watch Video Solution

37. IF the sides of a triangle are  then its smallest angle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7, 4√3, √13

30∘

45∘

90∘

120 ∘

38. In , then the greatest

angle of the triangle is

ΔABC, if cot : cot : cot = 1: 4: 15
A

2
B

2

C

2

https://dl.doubtnut.com/l/_9WygBBJSo4ex
https://dl.doubtnut.com/l/_klGUOS4HZtDd
https://dl.doubtnut.com/l/_NF0vfcuXgWtE


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π/3

π/4

π/6

2π/3

39. IF  are the sides of a triangle then its

largest angle is

A. 

B. 

C. 

D. 

Answer: D

x2 + x + 1, 2x + 1, x2 − 1

π/3

π/4

π/6

2π/3

https://dl.doubtnut.com/l/_NF0vfcuXgWtE
https://dl.doubtnut.com/l/_OMTYtdPYD4uq


Watch Video Solution

40. If the sides of a triangle are in the ratio , then

the greatest angle is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x : y :√x2 + xy + y2

90∘

120∘

cos − 1( )
x + y

x − y

41. The sides of a triangle are  and  for some 

. Then the greatest angle of the triangle is

A. 

sinα, cosα √1 + sinα cosα

0 < α <
π

2

60∘

https://dl.doubtnut.com/l/_OMTYtdPYD4uq
https://dl.doubtnut.com/l/_WRTzRg6ANkun
https://dl.doubtnut.com/l/_s9gGsQLQSKNS


B. 

C. 

D. 

Answer: C

Watch Video Solution

150∘

120∘

90∘

42. The smallest angle of the triangle whose sides are

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6 + √12, √48, √24

π/3

π/4

π/6

2π/3

https://dl.doubtnut.com/l/_s9gGsQLQSKNS
https://dl.doubtnut.com/l/_IKnHTxaamWxJ


43. IF the angles of a triangle are in the ratio , then the ratio of the

greatest side to the least side is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2: 3: 5

2:√10 − 2√5

4:√10 − 2√5

2:√10 + 2√5

4:√10 + 2√5

44. If the angles of a right angled triangle are in A.P then the sides are in

the ratio

A. 

B. 

1: 3: 2

1: 2: 1

https://dl.doubtnut.com/l/_IKnHTxaamWxJ
https://dl.doubtnut.com/l/_oCUjsPK9hDJm
https://dl.doubtnut.com/l/_MTak4nb0cKyy


C. 

D. none

Answer: C

Watch Video Solution

1: √3: 2

45. IF the angles of a triangle are in the ratio , the corresponding

sides are in the ratio

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 2: 3

2: 3: 1

√3: 2: 1

2: √3: 1

1: √3: 2

https://dl.doubtnut.com/l/_MTak4nb0cKyy
https://dl.doubtnut.com/l/_ebuEAIthXdd2
https://dl.doubtnut.com/l/_BW2DH82hPGau


46. If the angles of a triangle are in the ratio , then the ratio of the

longest side to the smallest side is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 2: 7

1: 7

1: 3

√5 + 1: √5 − 1

√5 − 1: √5 + 1

47. The angles of a triangle are in the ratio . Then the ratio of the

smallest side to the greatest side is

A. 

B. 

C. 

3: 5: 10

1: sin 10∘

1: 2sin 10∘

1: cos 10∘

https://dl.doubtnut.com/l/_BW2DH82hPGau
https://dl.doubtnut.com/l/_F5R4yW1i25cf


D. 

Answer: D

Watch Video Solution

1: 2cos 10∘

48. IF the angles of triangle are in the ratio  then the ratio of the

perimeter of the triangle to its largest side is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 1: 4

3: 2

√3 + 2: √2

√3 + 2: √3

√2 + 2: √3

https://dl.doubtnut.com/l/_F5R4yW1i25cf
https://dl.doubtnut.com/l/_OM88tFxgneEh


49. In , then C=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if sin2 A + sin2 B = sin2 C

30∘

45∘

60∘

90∘

50. In  is

A. a+b+c

B. 

C. 

D. abc

ΔABC, sinA : sinB : sinC

a : b : c

a2 + b2 + c2

https://dl.doubtnut.com/l/_zjaFZBJKpBdp
https://dl.doubtnut.com/l/_GrglKfQgzsB8


Answer: B

Watch Video Solution

51. The sides of a right angled triangle are in A.P then they are in the ratio

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2: 3: 1

2: 3: 5

3: 4: 5

3: 1: 2

52. The circumcentre of a triangle lies with in the triangle only when the

triangle is

https://dl.doubtnut.com/l/_GrglKfQgzsB8
https://dl.doubtnut.com/l/_9TRRMduuwV7K
https://dl.doubtnut.com/l/_nZsxwX71bnTg


A. acute angled

B. right angled

C. isosceles

D. none of these

Answer: A

Watch Video Solution

53. In , then the triangle is

A. equilateral

B. right angled

C. isosceles

D. none of these

Answer: B

Watch Video Solution

ΔABC, if cos2 A + cos2 B + cos2 C = 1

https://dl.doubtnut.com/l/_nZsxwX71bnTg
https://dl.doubtnut.com/l/_GNPhwMEdzkXO


54. In , then the triangle is

A. isosceles

B. equilateral

C. right angled

D. none of these

Answer: B

Watch Video Solution

ΔABC, if cosA + cosB + cosC = 3/2

55. In , then the triangle is

A. isosceles

B. right angled

C. equilateral

ΔABC, if tanA + tanB + tanC = 3√3

https://dl.doubtnut.com/l/_GNPhwMEdzkXO
https://dl.doubtnut.com/l/_eCYGRj9vcoHV
https://dl.doubtnut.com/l/_X7DrxWqHCw78


D. none

Answer: C

Watch Video Solution

56. In

then the triangle is

A. isosceles

B. equilateral

C. right angled

D. right angled isosceles

Answer: A

Watch Video Solution

ΔABC, if tanB tanC + tanC tanA + tanA tanB = √3 tanA tanB ta

https://dl.doubtnut.com/l/_X7DrxWqHCw78
https://dl.doubtnut.com/l/_ExYt6eTi2ZZU
https://dl.doubtnut.com/l/_LAjraxNuTzwV


57. In , then the

triangle is

A. isosceles

B. right angled

C. equilateral

D. none of these

Answer: A

Watch Video Solution

ΔABC, if c(a + b)cosB/2 = b(a + c)cosC /2

58. In , then the triangle is

A. right angled

B. isosceles

C. equilateral

D. none of these

ΔABC, if a2 + b2 + c2 = 8R2

https://dl.doubtnut.com/l/_LAjraxNuTzwV
https://dl.doubtnut.com/l/_fKecBB1WIVz9


Answer: A

Watch Video Solution

59. In , then the triangle is

A. isosceles

B. right angled

C. equilateral

D. none of these

Answer: C

Watch Video Solution

ΔABC, if sin2 A + sin2 B + sin2 C = 9/4

60. In , then the triangle is

A. right angled

ΔABC, if cos2 A + cos2 B + cos2 C = 3/4

https://dl.doubtnut.com/l/_fKecBB1WIVz9
https://dl.doubtnut.com/l/_gQob2UxyRdLY
https://dl.doubtnut.com/l/_0s4hWjYMTCE9


B. equilateral

C. isosceles

D. none

Answer: B

Watch Video Solution

61. IF , then the

triangle is

A. isosceles

B. right angled

C. equilateral

D. none

Answer: A

Watch Video Solution

ΔABC, if a tanA + b tanB = (a + b)tan( )
A + B

2

https://dl.doubtnut.com/l/_0s4hWjYMTCE9
https://dl.doubtnut.com/l/_wu3GpoAvpdGk


62. IF , then the triangle is

A. isosceles

B. equilateral

C. right angled

D. none

Answer: C

Watch Video Solution

ΔABC, if cot =
A

2
b + c

a

63. In a triangle ABC if , then  is

A. right angled

B. Isosceles right angled

C. equilateral

D. Scalene

= =
cosA

a

cosB
b

cosC

c
ΔABC

https://dl.doubtnut.com/l/_wu3GpoAvpdGk
https://dl.doubtnut.com/l/_MDNInT9eqtu6
https://dl.doubtnut.com/l/_PQjAWt8QmeDm


Answer: C

Watch Video Solution

64. IF , then  is

A. isosceles

B. equilateral

C. right angled

D. none

Answer: A

Watch Video Solution

cosA =
sinB

2 sinC
ΔABC

65. In a triangle ABC if sin A sin B= , then the triangle is

A. equilateral

ab/c2

https://dl.doubtnut.com/l/_PQjAWt8QmeDm
https://dl.doubtnut.com/l/_0veqCQneLCUw
https://dl.doubtnut.com/l/_jfzQZ9zqclJG


B. right angled

C. obtuse angled

D. none

Answer: B

Watch Video Solution

66. In  then the triangle is

A. equilateral

B. right angled

C. isosceles

D. none

Answer: C

Watch Video Solution

ΔABC, if sinC =
sinA

2 cosB

https://dl.doubtnut.com/l/_jfzQZ9zqclJG
https://dl.doubtnut.com/l/_2bw0Q2fVT2y4
https://dl.doubtnut.com/l/_qerPiwQGDlfH


67. In , then the triangle is

A. right angled

B. equilateral

C. isosceles

D. none

Answer: C

Watch Video Solution

ΔABC, if 2 cosB = a/c

68. IF , then  is

A. isosceles

B. equilateral

C. right angled

D. none

a cosB = b cosA ΔABC

https://dl.doubtnut.com/l/_qerPiwQGDlfH
https://dl.doubtnut.com/l/_kaYB0zXpC9kg


Answer: A

Watch Video Solution

69. In  then the triangle is

A. equilateral

B. right angled isosceles

C. right angled with 

D. None

Answer: C

Watch Video Solution

ΔABC if a2 + b2 + c2 = ca + ab√3

A = 90∘ , B = 60∘ , C = 30∘

70. In , then the

triangle is

ΔABC, if cosA cosB + sinA sinB sinC = 1

https://dl.doubtnut.com/l/_kaYB0zXpC9kg
https://dl.doubtnut.com/l/_gcBmjH1SsfHo
https://dl.doubtnut.com/l/_l5cKrfu2ZdCk


A. equilateral

B. right angled

C. isosceles

D. right angled isosceles

Answer: D

Watch Video Solution

71. In , then =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if cosA cosB + sinA sinB sinC = 1 a : b : c

1: 1: 1

1: 2: √2

1: 1: 2

1: 1: √2

https://dl.doubtnut.com/l/_l5cKrfu2ZdCk
https://dl.doubtnut.com/l/_LlkoZan9HjZz


72. In , the

triangle is right angled at

A. A

B. B

C. C

D. not right angled

Answer: C

Watch Video Solution

ΔABC, if sinA cosB = 1/4 and 3 tanA = tanB

73. In a triangle ABC if

 and 

 then the triangle is

A. isosceles

cot A = (x3 + x2 + x)
1 / 2

, cot B = (x + x− 1 + 1)
1 / 2

cot C = (x− 3 + x− 2 + x− 1)
− 1 / 2

https://dl.doubtnut.com/l/_LlkoZan9HjZz
https://dl.doubtnut.com/l/_Py41D3qR6dds
https://dl.doubtnut.com/l/_GhTExzghf9E1


B. obtuse angled

C. right angled

D. none

Answer: C

Watch Video Solution

74. The radius of the circumcircle of an isosceles triangle PQR is equal to

. Then the angle P is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PQ( = PR)

π/6

π/3

π/2

2π/3

https://dl.doubtnut.com/l/_GhTExzghf9E1
https://dl.doubtnut.com/l/_RuwkAUranrTF


75. The perimeter of a  is 6 times the A.M. of the sines of its

angles. If the side 'a' is 1, then the angle A is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

π/6

π/3

π/2

π

76. If , then the  is

A. right angled

B. obtuse angled

C. isosceles

sinA = sin2 B and 2 cos2 A = 3 cos2 B ΔABC

https://dl.doubtnut.com/l/_RuwkAUranrTF
https://dl.doubtnut.com/l/_uOJidZxkOmyj
https://dl.doubtnut.com/l/_R04BwUQ25QdP


D. equilateral

Answer: B

Watch Video Solution

77. In

, then

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

ΔABC, if (sinA + sinB + sinC)(sinA + sinB − sinC) = 3 sinA sin

A = 60∘

B = 60∘

C = 60∘

https://dl.doubtnut.com/l/_R04BwUQ25QdP
https://dl.doubtnut.com/l/_tWioaqPS5wLK
https://dl.doubtnut.com/l/_qsh5KmH8XUMx


78. In  and 

 then the triangle is

A. equilateral

B. isosceles

C. right angled

D. right angled isosceles

Answer: D

Watch Video Solution

ΔABC, if sinA + sinB + sinC = 1 + √2

cosA + cosB + cosC = √2

79. IF ABC is the triangle then one root of 

is

A. a

B. b

C. C

x2 − 2bx cosA + b2 − a2 = 0

https://dl.doubtnut.com/l/_qsh5KmH8XUMx
https://dl.doubtnut.com/l/_CNxC7ESoEQqE


D. none

Answer: C

Watch Video Solution

80. In  is always greater than

A. 9

B. 3

C. 27

D. none

Answer: A

Watch Video Solution

ΔABC∑
sin2 A + sinA + 1

sinA

81. In  is always greater thanΔABC∏( )
sin2 A + sinA + 1

sinA

https://dl.doubtnut.com/l/_CNxC7ESoEQqE
https://dl.doubtnut.com/l/_yPB2tegWnnjA
https://dl.doubtnut.com/l/_SfQVJ1AOpFKx


A. 9

B. 3

C. 27

D. none

Answer: C

View Text Solution

82. If A, B,C are angles of a acute angled triangle then the least value of

tan A tan B tan C is

A. 1

B. 3

C. 

D. 

Answer: D

√3

3√3

https://dl.doubtnut.com/l/_SfQVJ1AOpFKx
https://dl.doubtnut.com/l/_bYwG65sKsPWG


Watch Video Solution

83. In a right angled =

A. 0

B. 1

C. -1

D. 2

Answer: D

Watch Video Solution

ΔABC, sin2 A + sin2 B + sin2 C

84. IF twice the square of the radius of a circle is equal to half the sum of

the squares of the sides of inscribed triangle ABC, then

A. 1

sin2 A + sin2 B + sin2 C =

https://dl.doubtnut.com/l/_bYwG65sKsPWG
https://dl.doubtnut.com/l/_wBjGLEzcY3CQ
https://dl.doubtnut.com/l/_cvUIuP6KT4Ly


B. 2

C. 4

D. 8

Answer: A

Watch Video Solution

85. In a triangle ABC,if a is the arithemetic mean and b,c are the

two geometric means between any two positive real number then

=

A. 0

B. 1

C. 2

D. 4

Answer: C

(b ≠ c)

sin3 B + sin3 C

sinA sin b sinC

https://dl.doubtnut.com/l/_cvUIuP6KT4Ly
https://dl.doubtnut.com/l/_o7LxKpt3XM25


Watch Video Solution

86. Points D,E are taken on the side BC of a triangle ABC, such that

BD=DE=EC. IF , then the value of 

=

A. 1

B. 2

C. 4

D. None

Answer: C

Watch Video Solution

∠BAD = x, ∠DAE = y, ∠EAC = z

sin(x + y)sin(y + z)

sinx sin z

87. In  and D divides BC internally in the

ratio  then =

ΔABC, if B = 60∘ , C = 45∘

1: 3
sin∠BAD

sin∠CAD

https://dl.doubtnut.com/l/_o7LxKpt3XM25
https://dl.doubtnut.com/l/_Y9HmK4C1Nr2n
https://dl.doubtnut.com/l/_wh2pCxLGNGDy


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/√6

1/3

1/√3

√2/√3

88. If the area of an isosceles triangle is are vertical angle is 

then the base of the triangle is

A. 1

B. 2

C. 

D. 

Answer: B

√2 + 1 45∘

√2

√2 − 1

https://dl.doubtnut.com/l/_wh2pCxLGNGDy
https://dl.doubtnut.com/l/_qrRptZ1oXG3i


Watch Video Solution

89. IF A,B,C are angles of a triangle, then the minimum value of

 is

A. 0

B. 1

C. 

D. None

Answer: B

Watch Video Solution

tan2 + tan2 + tan2A

2
B

2

C

2

1/2

90. In 

A. 0

B. 1

ΔABC, ∑a(sinB − sinC) =

https://dl.doubtnut.com/l/_qrRptZ1oXG3i
https://dl.doubtnut.com/l/_PRkgJoxhzTCP
https://dl.doubtnut.com/l/_yLa4AyOTdGhq


C. 2

D. 3

Answer: A

Watch Video Solution

91. In =

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

ΔABC, ∑a2(cos2 B − cos2 C)

https://dl.doubtnut.com/l/_yLa4AyOTdGhq
https://dl.doubtnut.com/l/_5obo11hyGtwb


92. In =

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

ΔABC, ∑a. sin(B − C)

93. In a triangle ABC, . Then =

A. sin (A+B)

B. sin (A-B)

C. cos (A+B)

D. cos (A-B)

C = 90∘ a2 − b2

a2 + b2

https://dl.doubtnut.com/l/_yuTCEo9YxOQI
https://dl.doubtnut.com/l/_1qG5aCnRAAr2


Answer: B

Watch Video Solution

94. In any =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC,
(a + b + c)(b + c − a)(c + a − b)(a + b − c)

4b2c2

cos2 A

cos2 B

sin2 A

sin2 B

95. In =

A. 0

ΔABC, ∑a3 sin(B − C)

https://dl.doubtnut.com/l/_1qG5aCnRAAr2
https://dl.doubtnut.com/l/_X6sV9tfobxse
https://dl.doubtnut.com/l/_i0ayN8oNhy1o


B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

96. In =

A. 0

B. abc

C. 3abc

D. 1

Answer: C

Watch Video Solution

ΔABC, ∑a3 sin(B − C)

https://dl.doubtnut.com/l/_i0ayN8oNhy1o
https://dl.doubtnut.com/l/_pUUJ896O8NIA
https://dl.doubtnut.com/l/_LVF8tGqRTltx


97. In a triangle ABC,  is

equal to

A. 

B. 

C. 

D. None

Answer: D

Watch Video Solution

(a2 − b2 − c2)tanA + (a2 − b2 + c2)tanB

(a2 + b2 + c2)tanC

(a2 + b2 + c2)tanC

(b2 + c2 − a2)tanC

98. In 

A. -2

B. -1

C. 0

D. 1

ΔABC, =
sinA(a − b cosC)

sinC(c − b cosA)

https://dl.doubtnut.com/l/_LVF8tGqRTltx
https://dl.doubtnut.com/l/_e15138iFTlGW


Answer: D

Watch Video Solution

99. In 

A. c

B. 

C. bc

D. b-c

Answer: B

Watch Video Solution

ΔABC, =
b − a cosC

c − a cosB

c/b

100. In 

A. 

ΔABC, + =
cosC + cosA

c + a

cosB

b

1

a

https://dl.doubtnut.com/l/_e15138iFTlGW
https://dl.doubtnut.com/l/_CO3UKAlpeQPF
https://dl.doubtnut.com/l/_b8lpFIcoYQfG


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

b

1

c

c + a

b

101. In a triangle ABC,  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a(a + c − b)

b(b + c − a)

1 − cosA

1 − cosB

1 + cosA

1 + cosB

cos2(A/2)

sin2(B/2)

sin2 A

sin2 B

https://dl.doubtnut.com/l/_b8lpFIcoYQfG
https://dl.doubtnut.com/l/_i89a1Jw6JaIe
https://dl.doubtnut.com/l/_dYRpEprjovsT


102. In a 

A. a

B. b

C. c

D. a+b+c

Answer: A

Watch Video Solution

ΔABC, a(cos2 B + cos2 C) + cosA(c cosC + b cosB) =

103. In =

A. 

B. 

C. 

D. none

ΔABC, (b + c − a)tan(A/2)

Δ

2Δ

2Δ/s

https://dl.doubtnut.com/l/_dYRpEprjovsT
https://dl.doubtnut.com/l/_HrDwMODfTWYv


Answer: C

Watch Video Solution

104. In  then =

A. 2

B. 1

C. 3

D. 

Answer: A

Watch Video Solution

ΔABC, if s = 2b cot cot
A

2

C

2

√2

105. In , then =

A. 1

ΔABC, if 3a = b + c cot . cot
B

2
C

2

https://dl.doubtnut.com/l/_HrDwMODfTWYv
https://dl.doubtnut.com/l/_Eal8aFQQn55g
https://dl.doubtnut.com/l/_2tzome7nsFub


B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

106. In , if a,b,c are in A.P, then 

A. 

B. 2

C. 

D. 3

Answer: B

Watch Video Solution

ΔABC cos( )cos ec( ) =
A − C

2
B

2

1/2

1/3

https://dl.doubtnut.com/l/_2tzome7nsFub
https://dl.doubtnut.com/l/_WdhKWNDtcrI3
https://dl.doubtnut.com/l/_bnynaHtQ2j37


107. In 

A. b-c

B. b+c

C. 

D. 

Answer: C

Watch Video Solution

ΔABC, a(b cosC − c cosB) =

b2 − c2

b2 + c2

108. In a triangle ABC, =

A. 

B. 

C. 

D. 

cosB + cosC

1 − cosA

b + c

1 − a

bc

1 − a

b + c

a

a

b + c

https://dl.doubtnut.com/l/_bnynaHtQ2j37
https://dl.doubtnut.com/l/_VQm3KmPX7HfC


Answer: C

Watch Video Solution

109. In 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC, b cos(C + θ) + c cos(B − θ) =

a sin θ

a cos θ

a tan θ

a cot θ

110. In 

A. 

ΔABC, cot + tan =
b − c

b + c

A

2

b + c

b − c

A

2

2 sin(B − C)

https://dl.doubtnut.com/l/_VQm3KmPX7HfC
https://dl.doubtnut.com/l/_iyIOyAAk1O9P
https://dl.doubtnut.com/l/_H6CTwEa4gkXs


B. 

C. 

D. 

Answer: B

Watch Video Solution

2 cos ec(B − C)

2 cos(B − C)

2 cot(B − C)

111. In a 

A. a

B. b

C. c

D. 0

Answer: D

Watch Video Solution

ΔABC, ∑ (b + c)tan tan( ) =
A

2

B − C

2

https://dl.doubtnut.com/l/_H6CTwEa4gkXs
https://dl.doubtnut.com/l/_fbhAsyZkvrvN
https://dl.doubtnut.com/l/_NFVUEFvOBYow


112. In a 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, (a + b + c)(tan + tan ) =
A

2
B

2

2c cot
C

2

2a cot
A

2

2b cot
B

2

tan
C

2

113. In 

A. c

B. 

C. 2c

D. 3c

ΔABC, (a + b + c)(tan + tan )tan =
A

2
B

2
C

2

c/2

https://dl.doubtnut.com/l/_NFVUEFvOBYow
https://dl.doubtnut.com/l/_f4YTuRMdBDQu


Answer: C

Watch Video Solution

114. In 

A. c

B. 

C. 2c

D. 

Answer: D

Watch Video Solution

ΔABC, (a − b)
2

cos2 + (a + b)
2

sin2 =
C

2

C

2

c/2

c2

115. Two sides of a triangle are given by the roots of the equation

 and the angle between the sides is . Then the

perimeter of the triangle is

x2 − 5x + 6 = 0 π/2

https://dl.doubtnut.com/l/_f4YTuRMdBDQu
https://dl.doubtnut.com/l/_5hwXpCWFKScx
https://dl.doubtnut.com/l/_5CcpgvrvrlUR


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5 + √2

5 + √13

5 + √5

5 + √7

116. In =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC,
bc cosA + ca cosB + ab cosC

cot A + cot B + cot C

Δ

2Δ

Δ
1

2

Δ2

https://dl.doubtnut.com/l/_5CcpgvrvrlUR
https://dl.doubtnut.com/l/_whB1P56Lboz2


117. In 

A. 

B. 

C. s

D. 

Answer: A

Watch Video Solution

ΔABC, =
cot(A/2) + cot(B/2) + cot(C /2)

cot A + cot B + cot C

(a + b + c)2

a2 + b2 + c2

a2 + b2 + c2

(a + b + c)
2

Δ

118. In 

A. 1

B. 0

C. s

ΔABC, ∑ (a + b)tan( ) =
A − B

2

https://dl.doubtnut.com/l/_whB1P56Lboz2
https://dl.doubtnut.com/l/_x6AHiBm0Z654
https://dl.doubtnut.com/l/_NmTMRaiyOPtk


D. 

Answer: B

Watch Video Solution

2Δ

119. In 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, a2 sin 2C + c2 sin 2A =

Δ

2Δ

3Δ

4Δ

120. In ΔABC, R2(sin 2A + sin 2B + sin 2C) =

https://dl.doubtnut.com/l/_NmTMRaiyOPtk
https://dl.doubtnut.com/l/_4SspNOm4p6Nl
https://dl.doubtnut.com/l/_YQz92b60MVup


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Δ

2Δ

3Δ

4Δ

121. In , if A,B,C are in A.P then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC =
a + c

√a2 − ac + c2

cos( )
A − C

2

sin( )
A − C

2

2 cos( )
A − C

2

2 sin( )
A − C

2

https://dl.doubtnut.com/l/_YQz92b60MVup
https://dl.doubtnut.com/l/_B2bp9XUGBijF


122. In  if a,b,c are in A.P the greatest angle is A and least is C

then =

A. cos A+cos C

B. cos A- cos C

C. sin A+sin C

D. cos A- sin C

Answer: A

Watch Video Solution

ΔABC,

4(1 − cosA)(1 − cosC)

123. In  if

, then x+y+z (In terms of x,y,z only ) is

A. xyz

ΔABC,

x = tan( )tan , y = tan( )tan , z = tan( )tan
B − c

2

A

2

C − A

2

B

2

A − B

2

https://dl.doubtnut.com/l/_B2bp9XUGBijF
https://dl.doubtnut.com/l/_g0U9H5tdsUi2
https://dl.doubtnut.com/l/_5xodgxiSS7ws


B. 2xyz

C. 

D. 

Answer: C

Watch Video Solution

−xyz

xyz
1

2

124. In , if cos A+2 cos B+cos C=2, then the sides of the triangle are

in

A. H.P.

B. G.P.

C. A.P.

D. None

Answer: C

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_5xodgxiSS7ws
https://dl.doubtnut.com/l/_NM7LpwHuN9V5


125. In  in terms of s,a,b,c is

A. s

B. (s-b)

C. 

D. 0

Answer: B

Watch Video Solution

ΔABC, if a sin2 + c sin2C

2

A

2

a/c

126. In  in terms of s is

A. s

B. (s-b)

C. 

D. 0

ΔABC, if c cos2 + a cos2A

2

C

2

a/c

https://dl.doubtnut.com/l/_NM7LpwHuN9V5
https://dl.doubtnut.com/l/_zIrF3rReUQom
https://dl.doubtnut.com/l/_xAApZ2zgySIo


Answer: A

Watch Video Solution

127. In 

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

ΔABC, (b − c)2 + 4bc sin2(A/2) =

a2

b2

c2

128. In  then =

A. 

ΔABC, if b = (c + a)cos θ, sin θ

cos
2√bc

b + c

A

2

https://dl.doubtnut.com/l/_xAApZ2zgySIo
https://dl.doubtnut.com/l/_9et1b755yHGA
https://dl.doubtnut.com/l/_3zUPKAqB8Nfv


B. 

C. 

D. 

Answer: B

Watch Video Solution

cos
2√ca

c + a

B

2

sin
2√ab

a − b

C

2

sin
2√bc

b − c

A

2

129. In  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC, if c = (a − b)secθ, tan θ =

cos
2√bc

b + c

A

2

cos
2√ca

c + a

B

2

sin
2√ab

a − b

C

2

sin
2√bc

b − c

A

2

https://dl.doubtnut.com/l/_3zUPKAqB8Nfv
https://dl.doubtnut.com/l/_6ocAXB1kIOAo
https://dl.doubtnut.com/l/_lJewJAB6T9zR


130. In , then the

vaue of k is

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

ΔABC, if c = (a + b)sin θ and cos θ =
k√ab

a − b

2 cos(C /2)

2 cos(B/2)

2 cos(A/2)

131. In , then k =

A. 0

B. 1

C. 

D. 2

ΔABC, if a(b cosC + c cosB) = 2ka2

1/2

https://dl.doubtnut.com/l/_lJewJAB6T9zR
https://dl.doubtnut.com/l/_9IXTZCGKUYYT


Answer: C

Watch Video Solution

132. In , then c=

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ΔABC, if tan θ = tan
a + b

a − b

C

2

(a − b)cos secθ
C

2

(a + b)cos secθ
C

2

(a − b)sin tan θ
C

2

(a + b)sin tan θ
C

2

133. If  then find k .

A. 

tan. = k cot.
C − A

2
B

2

c − a

c + a

https://dl.doubtnut.com/l/_9IXTZCGKUYYT
https://dl.doubtnut.com/l/_zO0UIJ0iva8k
https://dl.doubtnut.com/l/_fjGjzFeypRUY


B. 

C. 

D. 

Answer: A

Watch Video Solution

b + a

b − a

b − c

b + c

c − a

b + a

134. In , then t=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC, if tan = t cot( )
A

2

B − C

2

(c − a)(c + a)

b + a

b − a

b − c

b + c

c − a

b + a

https://dl.doubtnut.com/l/_fjGjzFeypRUY
https://dl.doubtnut.com/l/_penvoY0pr6s1
https://dl.doubtnut.com/l/_e5kQEiASYBS1


135. If the area of a triangle satisfies the relation , then

=

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

Δ = a2 − (b − c)2

tan(A/2)

1/4

1/3

1/2

136. In , if a,b,c are in A.P, then =

A. 

B. 

C. 3

D. None

ΔABC tan tan
A

2

C

2

1/4

1/3

https://dl.doubtnut.com/l/_e5kQEiASYBS1
https://dl.doubtnut.com/l/_PP3MWGfKAqLF


Answer: B

Watch Video Solution

137. In  are in H.P, then a,b,c are in

A. H.P.

B. G.P.

C. A.P.

D. None

Answer: C

Watch Video Solution

ΔABC, if tan , tan , tan
A

2
B

2

C

2

138. In , then  are in

A. A.P.

ΔABC, if =
a

c

sin(A − B)

sin(B − C)
a2, b2, c2

https://dl.doubtnut.com/l/_PP3MWGfKAqLF
https://dl.doubtnut.com/l/_0CCYkcvaWSUb
https://dl.doubtnut.com/l/_XS9QNGQLEuGj


B. G.P.

C. H.P.

D. None

Answer: A

Watch Video Solution

139. In  are in A.P. then a,b,c are In

A. A.P.

B. G.P.

C. H.P.

D. None

Answer: A

Watch Video Solution

ΔABC, if cot , cot , cot
A

2
B

2

C

2

https://dl.doubtnut.com/l/_XS9QNGQLEuGj
https://dl.doubtnut.com/l/_6VyvomStfmKa
https://dl.doubtnut.com/l/_ns5rnxzpv4it


140. In  are in H.P, then a,b,c in

A. A.P.

B. G.P.

C. H.P.

D. None

Answer: C

Watch Video Solution

ΔABC, if sin2 , sin2 , sin2A

2

B

2

C

2

141. In  then a,b,c are in

A. A.P.

B. G.P.

C. H.P.

D. None

ΔABC, if a cos2 + c cos2 =
C

2
A

2
3b
2

https://dl.doubtnut.com/l/_ns5rnxzpv4it
https://dl.doubtnut.com/l/_eaLSSCDXLOD7


Answer: A

Watch Video Solution

142. In  then

A. a,c,b are in A.P

B. a,b,c are in A.P.

C. b,a,c are in A.P.

D. a,b,c are in G.P.

Answer: B

Watch Video Solution

ΔABC, if tan = , tan =
A

2

5

6

C

2

2

5

143. If  then determine the relation

between a, b,c

tan. = and tan. =
A

2

5

6

C

2

2

5

https://dl.doubtnut.com/l/_eaLSSCDXLOD7
https://dl.doubtnut.com/l/_uI5rIzjkZebF
https://dl.doubtnut.com/l/_HRYXw6bgF5Lf


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

b2 = ac

2b = a + c

2ac = b(a + c)

a + b = c

144. In  then a,b,c are in

A. A.P.

B. G.P.

C. H.P.

D. None

Answer: A

Watch Video Solution

ΔABC, if 3 tan tan = 1
A

2

C

2

https://dl.doubtnut.com/l/_HRYXw6bgF5Lf
https://dl.doubtnut.com/l/_RxgsGMbKbr6S


145. In , if tan A, tan B, tan C are in H.P., then  are in

A. H.P.

B. G.P.

C. A.P.

D. None

Answer: C

Watch Video Solution

ΔABC a2, b2, c2

146. In , then 

 are in

A. A.P.

B. G.P.

C. H.P.

ΔABC, if sinA : sinC = sin(A − B) : sin(B − C)

a2, b2, c2

https://dl.doubtnut.com/l/_RxgsGMbKbr6S
https://dl.doubtnut.com/l/_ws9Axoyk2l4G
https://dl.doubtnut.com/l/_Ei1brk2Xfbbr


D. None

Answer: A

Watch Video Solution

147. If the angles A,B,C of a triangle are in A.P and sides a,b,c are in G.P

then  are in

A. A.P.

B. H.P.

C. G.P.

D. None

Answer: A

Watch Video Solution

a2, b2, c2

https://dl.doubtnut.com/l/_Ei1brk2Xfbbr
https://dl.doubtnut.com/l/_3f109osKzNfh


148. In  are in A.P then  are In

A. A.P.

B. G.P.

C. H.P.

D. None

Answer: C

Watch Video Solution

ΔABC, if b,
a + b

1 − ab

b + c

1 − bc
a, 1/b, c

149. In , then the value of 

A. 

B. 2

C. 3

D. 4

ΔABC, if C = A − B = 60∘ =
a − b

c

1/√3

https://dl.doubtnut.com/l/_ugKFc42JxztY
https://dl.doubtnut.com/l/_Wz84MRFZpHGZ


Answer: A

Watch Video Solution

150. In  then =

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

ΔABC, if A = 60∘ +
b

c + a

c

a + b

151. If 

A. 2

C = 60∘ ,  then show that + = 1
a

b + c

b

c + a

https://dl.doubtnut.com/l/_Wz84MRFZpHGZ
https://dl.doubtnut.com/l/_s3OyPgAqL9iV
https://dl.doubtnut.com/l/_qhpdNr1HMRKu


B. 4

C. 3

D. 1

Answer: D

Watch Video Solution

152. In  then =

A. a+b+c

B. 

C. abc

D. 0

Answer: B

View Text Solution

ΔABC, if C = 60∘ +
1

a + b

1

a + c

3

a + b + c

https://dl.doubtnut.com/l/_qhpdNr1HMRKu
https://dl.doubtnut.com/l/_5jeEU7sQzGqe
https://dl.doubtnut.com/l/_Wv8Atv8sPEcK


153. In  then =

A. a+b+c

B. 

C. abc

D. 0

Answer: D

View Text Solution

ΔABC, if C = 60∘ +
b

c2 − a2

a

c2 − b2

1

a + b + c

154. In  then B=

A. 

B. 

C. 

D. 

ΔABC, if + = 0
a

b2 − c2

c

b2 − a2

π/2

π/4

2π/3

π/3

https://dl.doubtnut.com/l/_Wv8Atv8sPEcK
https://dl.doubtnut.com/l/_Xuhu4kiyXWGB


Answer: D

Watch Video Solution

155. In  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, if B = 90∘ tan =
A

2

√
b − c

b + c

√
b + c

a + c

√
b + c

b − a

√
b + c

a + c

156. In then =

A. 1

ΔABC, if C = 90∘ sin(A − B)
a2 + b2

a2 − b2

https://dl.doubtnut.com/l/_Xuhu4kiyXWGB
https://dl.doubtnut.com/l/_v6S9dD6TdDfn
https://dl.doubtnut.com/l/_uOcVoHhEnsW9


B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

157. In  then C=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC if + =
1

b + c

1

c + a

3

a + b + c

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_uOcVoHhEnsW9
https://dl.doubtnut.com/l/_rXb7LUHeUK87
https://dl.doubtnut.com/l/_EsOJGi2C7ELl


158. In , then C=

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

ΔABC, if (a + b + c)(a + b − c) = 3ab

60∘

30∘

90∘

159. In , then the value of 

=

A. 3

B. 2

C. 1

D. None

ΔABC if A = 60∘

(1 + + )(1 + − )
a

c

b

c

c

b

a

b

https://dl.doubtnut.com/l/_EsOJGi2C7ELl
https://dl.doubtnut.com/l/_IxD0xDg4u57a


Answer: A

Watch Video Solution

160. In =

A. s

B. R

C. 

D. 

Answer: C

Watch Video Solution

ΔABC, + +
cosA

c sinB
cosB

a sinC

cosC

b sinA

1/R

1/Δ

161. In  then the value of cos A

+cos B +cos C =

ΔABC, if = =
sinA

4

sinB

5

sinC

6

https://dl.doubtnut.com/l/_IxD0xDg4u57a
https://dl.doubtnut.com/l/_giwzmwP6xd9Y
https://dl.doubtnut.com/l/_WLOxmdTVIvzX


A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

23/15

23/16

23/14

162. In , then =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, if a : b : c = 3: 4: 5 sinA : sinB : sinC

3: 4: 5

9: 16: 25

9: 8: 7

7: 9: 8

https://dl.doubtnut.com/l/_WLOxmdTVIvzX
https://dl.doubtnut.com/l/_AbXOiVX6k5nz


163. In a , if , then find .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

△ ABC a : b : c = 7: 8: 9 cosA : cosB : cosC

7: 9: 11

14: 11: 6

7: 19: 25

8: 6: 5

164. In , then 

=

A. 

B. 

C. 

ΔABC if b + c : c + a : a + b = 11: 12: 13

cosA : cosB : cosC

7: 9: 11

14: 11: 6

7: 19: 25

https://dl.doubtnut.com/l/_AbXOiVX6k5nz
https://dl.doubtnut.com/l/_UXzARP9lG7Ju
https://dl.doubtnut.com/l/_CvbtCkF9DtOp


D. 

Answer: C

Watch Video Solution

8: 6: 5

165. In , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, if cosA = 17/22, cosC = 1/14 a : b : c =

7: 9: 11

14: 11: 6

7: 19: 25

8: 6: 5

166. In , then ΔABC, if cot : cot : cot = 3: 7: 9
A

2
B

2

C

2
a : b : c =

https://dl.doubtnut.com/l/_CvbtCkF9DtOp
https://dl.doubtnut.com/l/_whamxrVmBOgQ
https://dl.doubtnut.com/l/_5oi123j2R8OW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7: 9: 11

14: 11: 6

7: 19: 25

8: 6: 5

167. In , then 

=

A. 

B. 

C. 

D. None

Answer: C

ΔABC, if tanA : tanB : tanC = 1: 2: 3

sinA : sinB : sinC

√5: 3: 2√2

3: 2√2: √5

√5: 2√2: 3

https://dl.doubtnut.com/l/_5oi123j2R8OW
https://dl.doubtnut.com/l/_hF7ntNjAjZ29


Watch Video Solution

168. In a triangle ABC, , then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
s − a

11
s − b

12
s − c

13
tan2(A/2) =

143/432

13/33

11/39

12/37

169. In a triangle ABC, if  and 

, then 

A. -1

B. 0

cot cot = c, cot cot = a
A

2
B

2
B

2
C

2

cot cot = b
C

2

A

2
+ + =

1

s − a

1

s − b

1

s − c

https://dl.doubtnut.com/l/_hF7ntNjAjZ29
https://dl.doubtnut.com/l/_rni6ULNaeGJQ
https://dl.doubtnut.com/l/_L4OfhSm1gbxb


C. 1

D. 2

Answer: D

Watch Video Solution

170. In , the length of the

perpendicular from A on BC produced is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, B = 45∘ , C = 120∘ , a = 40cm

40(√3 + 1)

20(√3 + 1)

40(3 + √3)

20(3 + √3)

https://dl.doubtnut.com/l/_L4OfhSm1gbxb
https://dl.doubtnut.com/l/_R4HqvcOAgwu7
https://dl.doubtnut.com/l/_rnv0oLTfWn5p


171. If H is the orthocentre of , then AH=

A. cos A

B. R cos A

C. 2 R cos A

D. None

Answer: C

View Text Solution

ΔABC

172. IF H is the orthocentre of  and if AH=x, BH=y, CH=z, then 

A. 

B. 

C. 

D. abc

ΔABC

+ + =
a

x

b

y

c

z

a

x

b

y

c

z

1

xyz

1

abc

https://dl.doubtnut.com/l/_rnv0oLTfWn5p
https://dl.doubtnut.com/l/_fUy6emA6SVzM


Answer: A

Watch Video Solution

173. In , then A=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if + + = +
2 cosA

a

cosB
b

2 cosC

c

a

bc

b

ca

45∘

60∘

30∘

90∘

174. If  are the lengths of altitudes of , then 

=

α, β, γ ΔABC

α− 2 + β − 2 + γ − 2

https://dl.doubtnut.com/l/_fUy6emA6SVzM
https://dl.doubtnut.com/l/_NYW52wUBOfh0
https://dl.doubtnut.com/l/_8bcZ78qrJksa


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Δ

cot A + cot B + cot C

cot A + cot B + cot C

Δ

Δ

cot A + cot B + cot C

175. If , are lengths of the altitudes of a triangle ABC with area ,

then 

A. 

B. 

C. 

D. 

Answer: A

α, β, γ Δ

( + + ) =
Δ2

R2

1

α2

1

β2

1

γ2

sin2 A + sin2 B + sin2 C

cos2 A + cos2 B + cos2 C

tan2 A + tan2 B + tan2 C

cot2 A + cot2 B + cot2 C

https://dl.doubtnut.com/l/_8bcZ78qrJksa
https://dl.doubtnut.com/l/_a2Y9mgqHBPdT


Watch Video Solution

176. If  are the lengths of the altitudes of , then 

A. 

B. 

C. R

D. 

Answer: D

Watch Video Solution

α, β, γ ΔABC

+ + =
cosA

α

cosB

β

cosC

γ

Δ

1/Δ

1/R

177. IF  are the lengths of the altitudes of , then 

A. 0

α, β, γ ΔABC

+ − − cos2 =
1

α

1

β

1

γ

2ab

(a + b + c)Δ

C

2

https://dl.doubtnut.com/l/_a2Y9mgqHBPdT
https://dl.doubtnut.com/l/_zEuViSmVF5Wb
https://dl.doubtnut.com/l/_rzJqZ5AlNZ4h


EXERCISE 1B

B. 1

C. 2s

D. 

Answer: A

Watch Video Solution

Δ

1. If the sides of the triangle are 13,14,15 then the radius of the incircle is

A. 

B. 

C. 4

D. 24

Answer: C

65/8

65/4

https://dl.doubtnut.com/l/_rzJqZ5AlNZ4h
https://dl.doubtnut.com/l/_PV9BuYRpKnX1


Watch Video Solution

2. In , then A=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if r :R : r1 = 2: 5: 12

45∘

60∘

30∘

90∘

3. In  then r=

A. 3

B. 4

C. 5

ΔABC, if a = 26, b = 30, cosC = 63/65

https://dl.doubtnut.com/l/_PV9BuYRpKnX1
https://dl.doubtnut.com/l/_7H0VPuZ0sN3q
https://dl.doubtnut.com/l/_PincC6bl9oJZ


D. 2

Answer: A

Watch Video Solution

4. In  then r=

A. 15

B. 18

C. 36

D. 6

Answer: D

Watch Video Solution

ΔABC, if a = 30, b = 24, c = 18

5. In , then ΔABC, if a = 13, b = 14, c = 15 r1 =

https://dl.doubtnut.com/l/_PincC6bl9oJZ
https://dl.doubtnut.com/l/_q4vkndpzrjIZ
https://dl.doubtnut.com/l/_PAowUFOEz5Ad


A. 

B. 14

C. 

D. 4

Answer: A

Watch Video Solution

21/2

65/8

6. In , then the value of  is

A. 

B. 

C. 48

D. 16

Answer: D

Watch Video Solution

ΔABC, if a = 26b = 30 cosC = 63/65 r1

65/4

4/65

https://dl.doubtnut.com/l/_PAowUFOEz5Ad
https://dl.doubtnut.com/l/_GqIKT2ULAqkY


7. In  then 

A. 

B. 14

C. 

D. 12

Answer: D

Watch Video Solution

ΔABC, if a = 13, b = 14, c = 15 r2 =

21/2

65/8

8. In , then the value of  is

A. 

B. 

C. 48

ΔABC, if a = 26, b = 30 cosC = 63/65 r2

65/4

4/65

https://dl.doubtnut.com/l/_GqIKT2ULAqkY
https://dl.doubtnut.com/l/_lAyR9lKzqPm9
https://dl.doubtnut.com/l/_uCEWNVIrEwWx


D. 16

Answer: C

Watch Video Solution

9. In , then 

A. 15

B. 18

C. 36

D. 12

Answer: D

Watch Video Solution

ΔABC, if a = 30, b = 24, c = 18 r3 =

10. In , then R=ΔABC, if r1 = 36, r2 = 18, r3 = 12

https://dl.doubtnut.com/l/_uCEWNVIrEwWx
https://dl.doubtnut.com/l/_EpuC3rLxON3d
https://dl.doubtnut.com/l/_NSVpg9ZeXf0O


A. 15

B. 18

C. 24

D. 30

Answer: A

Watch Video Solution

11. In , then a=

A. 10

B. 12

C. 16

D. 20

Answer: B

Watch Video Solution

ΔABC, if r1 = 8, r2 = 12, r3 = 24

https://dl.doubtnut.com/l/_NSVpg9ZeXf0O
https://dl.doubtnut.com/l/_xXnuZdB9Ym4F


12. IF in a triangle ABC,  then a=

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

r1 = 2, r2 = 3 and r3 = 6

13. In , then b=

A. 15

B. 18

C. 24

ΔABC, if r1 = 36, r2 = 18, r3 = 12

https://dl.doubtnut.com/l/_xXnuZdB9Ym4F
https://dl.doubtnut.com/l/_ncZYnXmDHfPs
https://dl.doubtnut.com/l/_9k6CESTGvrKt


D. 30

Answer: C

Watch Video Solution

14. In  then c=

A. 5

B. 12

C. 13

D. 

Answer: C

Watch Video Solution

ΔABC, if r1 = 3, r2 = 10, r3 = 15

13/2

15. In a triangle  then b=ABC, = , = , =
s − a

Δ

1

8

s − b

Δ

1
12

s − c

Δ

1

24

https://dl.doubtnut.com/l/_9k6CESTGvrKt
https://dl.doubtnut.com/l/_Tzepjm0a3H4Y
https://dl.doubtnut.com/l/_kzlX5N8ZSiwZ


A. 16

B. 20

C. 24

D. 28

Answer: A

Watch Video Solution

16. IF 2,4,6,12 are in radius and exradii of triangle , then its area is

A. 6 sq. unit

B. 24 sq.unit

C. 30 sq.unit

D. 12 sq.unit

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kzlX5N8ZSiwZ
https://dl.doubtnut.com/l/_q4LAMgOd0IcF


17. In an equilateral triangle  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

r :R : r1

1: 1: 1

1: √2: 3

1: 2: 3

2: √3: √3

18. In the area of  is 96 sq.cm and its perimeter is 16 cm, then its is

radius is

A. 10 cm

B. 11 cm

C. 12 cm

ΔABC

https://dl.doubtnut.com/l/_q4LAMgOd0IcF
https://dl.doubtnut.com/l/_glcYoUJtdzcs
https://dl.doubtnut.com/l/_YADH3V8calRV


D. 13 cm

Answer: C

Watch Video Solution

19. If the perimeter of a triangle is 12 unit and it in radius is 1 unit, then its

area is

A. 6 sq. unit

B. 24 sq.unit

C. 30 sq.unit

D. 12 sq.unit

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YADH3V8calRV
https://dl.doubtnut.com/l/_QdglQuz72Rj6


20. IF the area of a triangle is 6 sq.unit and its in radius 2 unit then its

perimeter is

A. 1

B. 2

C. 3

D. 6

Answer: D

Watch Video Solution

21. The perimeter of a triangle right angled at C is 70, and the in-radius is

6, then 

A. 1

B. 2

C. 8

|a − b| =

https://dl.doubtnut.com/l/_MbusP8gwRKuO
https://dl.doubtnut.com/l/_FE7WLVc48RoM


D. 9

Answer: A

Watch Video Solution

22. In  then its inradius is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if Δ = 8sq. unit, s = 1.5unit

14/3

21/4

13/2

16/3

23. In  then ΔABC, if a = 26, b = 30, cosC = 63/65 r1 : r2 : r3 =

https://dl.doubtnut.com/l/_FE7WLVc48RoM
https://dl.doubtnut.com/l/_qX1VluAmnvG8
https://dl.doubtnut.com/l/_gRtW1GhiIfZj


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4: 12: 1

3: 4: 12

1: 4: 12

4: 12: 3

24. In , then the ratio 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, if a = 30b = 24c = 18 : : =
1

r1

1

r2

1

r3

1: 2: 3

2: 1: 3

3: 2: 1

1: 3: 2

https://dl.doubtnut.com/l/_gRtW1GhiIfZj
https://dl.doubtnut.com/l/_dFWkctLRqD6v


25. In 

A. (s-a) 

B. (s-b) tan 

C. (s-b) tan 

D. (s-a) 

Answer: B

Watch Video Solution

ΔABC, r =

tan(B/2)

(B/2)

(C /2)

tan(C /2)

26. In 

A. 4 R

B. 

C. 

ΔABC, r1r2r3 =

r. s

r. s2

https://dl.doubtnut.com/l/_dFWkctLRqD6v
https://dl.doubtnut.com/l/_HTKkvRBdRgr5
https://dl.doubtnut.com/l/_SjpOMipM9OHe


D. R

Answer: C

Watch Video Solution

27. In  =

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC,
√rr1r2r3

2Rr(sinA + sinB + sinC)

1/3

1/4

1/2

28. In ΔABC, r(r1 + r2 + r3) =

https://dl.doubtnut.com/l/_SjpOMipM9OHe
https://dl.doubtnut.com/l/_SG26zwBBGdU3
https://dl.doubtnut.com/l/_jVjTgwxEId6w


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ab + bc + ca − s2

ab − bc + ca − s2

ab + bc − ca − s2

ab + bc + ca + s2

29. In =

A. 

B. 

C. 

D. abc

Answer: D

Watch Video Solution

ΔABC, a(rr1 + r2r3)

ca − r3r1

r2

r3r + r1r2

ab

r2
3

4R − r1 − r2

https://dl.doubtnut.com/l/_jVjTgwxEId6w
https://dl.doubtnut.com/l/_IfahZVCwpDbS


30. In 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC, + + =
1

r1

1

r2

1

r3

Δ/s

1/r

2/r

3/r

31. In any triangle ABC, 

A. 

B. 

C. 

r1r2 + r2r3 + r3r1 =

Δ2

r2

Δ

r

2Δ

r

https://dl.doubtnut.com/l/_IfahZVCwpDbS
https://dl.doubtnut.com/l/_wcvikkrGiP9F
https://dl.doubtnut.com/l/_2ILheYLVjuMX


D. 

Answer: A

Watch Video Solution

Δ2

32. In 

A. 

B. 

C. R

D. 0

Answer: B

Watch Video Solution

ΔABC, (r1 − r)(r2 − r)(r3 − r) =

4Rr2

4Rr2

33. In ΔABC, (r1 + r2)(r2 + r3)(r3 + r1) =

https://dl.doubtnut.com/l/_2ILheYLVjuMX
https://dl.doubtnut.com/l/_dhlxQ5crUlHF
https://dl.doubtnut.com/l/_aTnhEjR9x8hB


A. 

B. 

C. R

D. 0

Answer: A

Watch Video Solution

4Rs2

4Rr2

34. In 

A. 

B. 

C. 

D. R

Answer: B

Watch Video Solution

ΔABC, + + + =
1

r2
1

1

r2
2

1

r2
3

1

r2

a + b + c

Δ

a2 + b2 + c2

Δ2

1

2Rr

https://dl.doubtnut.com/l/_aTnhEjR9x8hB
https://dl.doubtnut.com/l/_DuDz5aywtKCb


35. In 

A. 1

B. 0

C. s

D. 

Answer: A

Watch Video Solution

ΔABC, { + + + } =
Δ2

a2 + b2 + c2

1

r2
1

1

r2
2

1

r2
3

1

r2

Δ

36. In 

A. 

B. 0

C. 

ΔABC, ( − )( − )( − ) =
1

r

1

r1

1

r

1

r2

1

r

1

r3

abc

Δ3

4Rr2

https://dl.doubtnut.com/l/_DuDz5aywtKCb
https://dl.doubtnut.com/l/_7reQVrAio3Jk
https://dl.doubtnut.com/l/_8QWBAw0G3Nfu


D. 

Answer: A

Watch Video Solution

1/r

37. In a triangle , if , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

r1 = 2r2 = 3r3 + + =
a

b

b

c

c

a

75

60

155

60

176

60

191

60

38. In ΔABC, r + r2 + r3 − r1 =

https://dl.doubtnut.com/l/_8QWBAw0G3Nfu
https://dl.doubtnut.com/l/_Yjy8g9pb1jwS
https://dl.doubtnut.com/l/_RovuLPBR9isD


A. 4 R cos A

B. 4 R cos B

C. 4 R cos C

D. 4R

Answer: D

Watch Video Solution

39. In 

A. 4R cos A

B. 4R cos B

C. 4R cos C

D. 4R

Answer: A

Watch Video Solution

ΔABC, r + r2 + r3 − r1 =

https://dl.doubtnut.com/l/_RovuLPBR9isD
https://dl.doubtnut.com/l/_CLMzSP7Af23F


40. In 

A. 4 R cos A

B. 4R cos B

C. 4R cos C

D. 4R

Answer: B

Watch Video Solution

ΔABC, r + r2 + r3 − r1 =

41. IF in a , then 

A. 

B. 

C. 

ΔABC, r3 = r1 + r2 + r ∠A + ∠B =

120∘

100∘

90∘

https://dl.doubtnut.com/l/_CLMzSP7Af23F
https://dl.doubtnut.com/l/_aRRNO199Q4X7
https://dl.doubtnut.com/l/_2ldMc0aR9ryT


D. 

Answer: C

Watch Video Solution

80∘

42. In 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, r2
1 + r2

2 + r2
3 + r2 =

16R2 − (a2 + b2 + c2)

16R2 − (a2 + b2 − c2)

16R2 − (a2 − b2 + c2)

16R2 − (a2 − b2 − c2)

43. In ΔABC, =
ab − r1r2

r3

https://dl.doubtnut.com/l/_2ldMc0aR9ryT
https://dl.doubtnut.com/l/_E4jU7qzoWIbR
https://dl.doubtnut.com/l/_OgZSVihZyltN


A. 

B. 

C. 

D. abc

Answer: A

Watch Video Solution

ca − r3r1

r2

r3r + r1r2

ab

r2
3

4R − r1 − r2

44. In 

A. 

B. 

C. 

D. abc

Answer: B

Watch Video Solution

ΔABC, =
r1r + r2r3

bc

ca − r3r1

r2

r3r + r1r2

ab

r2
3

4R − r1 − r2

https://dl.doubtnut.com/l/_OgZSVihZyltN
https://dl.doubtnut.com/l/_sJLWJnR27gQa


45. In 

A. 

B. 

C. 

D. abc

Answer: C

Watch Video Solution

ΔABC, r3 + =
r1r2

r1 + r2

ca − r3r1

r2

r3r + r1r2

ab

r2
3

4R − r1 − r2

46. In 

A. 

B. 

C. 

ΔABC,√[ ] =
rr1

r2r3

Δ

tan
A

2

cot
C

2

https://dl.doubtnut.com/l/_sJLWJnR27gQa
https://dl.doubtnut.com/l/_VT76a539QwGt
https://dl.doubtnut.com/l/_08U6cGeIIBdc


D. 

Answer: B

Watch Video Solution

sin
B

2

47. In 

A. a

B. b

C. c

D. 0

Answer: B

Watch Video Solution

ΔABC, (r3 + r1)√[ ] =
rr2

r3r1

48. In ΔABC, r1r2√[ ]
4R − r1 − r2

r1 + r2

https://dl.doubtnut.com/l/_08U6cGeIIBdc
https://dl.doubtnut.com/l/_sU0Dk3qjic1L
https://dl.doubtnut.com/l/_AexoRsA0DhNX


A. 

B. 

C. 

D. s

Answer: C

Watch Video Solution

(r2 + r3)sec2 A

2

r1r2r3

Δ

49. In 

A. 

B. b

C. c

D. 0

Answer: B

Watch Video Solution

ΔABC, =
r2(r3 + r1)

√r1r2 + r2r3 + r3r1

s2

https://dl.doubtnut.com/l/_AexoRsA0DhNX
https://dl.doubtnut.com/l/_llB7p8nVSGCX


50. In 

A. 

B. b

C. c

D. 0

Answer: D

Watch Video Solution

ΔABC, + + =
b − c

r1

c − a

r2

a − b

r3

s2

51. In 

A. 

B. 

C. 

ΔABC, + =
r1 − r

a

r2 − r

b

a/r3

b/r3

c/r3

https://dl.doubtnut.com/l/_llB7p8nVSGCX
https://dl.doubtnut.com/l/_bdoPSTADacuX
https://dl.doubtnut.com/l/_8SsOrwTdBrYt


D. 0

Answer: C

Watch Video Solution

52. In 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, + + =
r1 − r

a

r2 − r

b

r3 − r

c

r1 + r2 + r3

3

r1 + r2 + r3

r1 + r2 + r3

2

r1 + r2 + r3

s

53. In  prove that .△ ABC + + = −
r1

bc

r2

ca

r3

ab

1

r

1

2R

https://dl.doubtnut.com/l/_8SsOrwTdBrYt
https://dl.doubtnut.com/l/_Ebyd2OJBzZ3o
https://dl.doubtnut.com/l/_aSo2dn0Sp6g7


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−
1

r

1

2R

1 +
r

R

2 +
r

2R

1 −
r

2R

54. In 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, rr1 cot =
A

2

Δ

tan
A

2

cot
C

2

sin
B

2

https://dl.doubtnut.com/l/_aSo2dn0Sp6g7
https://dl.doubtnut.com/l/_c3S4TxczCqUZ


55. In 

A. a

B. b

C. c

D. 

Answer: D

Watch Video Solution

ΔABC, r2r3 tan =
A

2

Δ

56. In 

A. a

B. b

C. c

ΔABC, (r1 + r2)tan =
C

2

https://dl.doubtnut.com/l/_c3S4TxczCqUZ
https://dl.doubtnut.com/l/_abPavptdl65Y
https://dl.doubtnut.com/l/_r0se4b5sf5jd


D. 0

Answer: C

Watch Video Solution

57. In 

A. a

B. b

C. c

D. 0

Answer: C

Watch Video Solution

ΔABC(r3 − r)cot =
C

2

58. In ΔABC, r(cot + cot ) =
B

2

C

2

https://dl.doubtnut.com/l/_r0se4b5sf5jd
https://dl.doubtnut.com/l/_0AZUc2JRbgxk
https://dl.doubtnut.com/l/_56abBiFHrHXJ


A. a

B. b

C. c

D. 0

Answer: A

Watch Video Solution

59. In 

A. s

B. 2s

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, r(cot + cot + cot ) =
A

2
B

2

C

2

s/2

4s

https://dl.doubtnut.com/l/_56abBiFHrHXJ
https://dl.doubtnut.com/l/_jAHt8n1G810D


60. In 

A. s

B. 2S

C. 3S

D. 4s

Answer: C

Watch Video Solution

ΔABC, r1 cot + r2 cot + r3 cot =
A

2
B

2

C

2

61. In 

A. 3s

B. 

C. 

ΔABC, r(r1 cot + r2 cot + r3 cot ) =
A

2
B

2

C

2

3Δ

3/Δ

https://dl.doubtnut.com/l/_jAHt8n1G810D
https://dl.doubtnut.com/l/_pTQlsgruqDqf
https://dl.doubtnut.com/l/_nuWeD6A1pMey


D. 

Answer: B

Watch Video Solution

2/Δ

62. In 

A. 

B. 

C. 

D. s

Answer: A

Watch Video Solution

ΔABC, (r1 + r2)sec2 =
C

2

(r2 + r3)sec2 A

2

r1r2r3

Δ

63. In a triangle ABC , =
r1 + r2

1 + cosC

https://dl.doubtnut.com/l/_nuWeD6A1pMey
https://dl.doubtnut.com/l/_D4KRlAJH2V2j
https://dl.doubtnut.com/l/_JmGnZkUR0GsT


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2ab/cΔ

(a + b) /cΔ

abc/2Δ

abc/Δ2

64. In 

A. 

B. 

C. 

D. s

Answer: B

Watch Video Solution

ΔABC, r3 cot2 . cot2 . cot2 =
A

2
B

2

C

2

(r2 + r3)sec2 A

2

r1r2r3

Δ

https://dl.doubtnut.com/l/_JmGnZkUR0GsT
https://dl.doubtnut.com/l/_4WJKvSiUTl4a


65. In 

A. 

B. 

C. 

D. s

Answer: C

Watch Video Solution

ΔABC, 4Rr cos cos cos =
A

2

B

2

C

2

(r2 + r3)sec2 A

2

r1r2r3

Δ

66. In 

A. 

B. 

C. 

ΔABC, r2 cot . cot . cot =
A

2
B

2
C

2

(r2 + r3)sec2 A

2

r1r2r3

Δ

https://dl.doubtnut.com/l/_4WJKvSiUTl4a
https://dl.doubtnut.com/l/_3kWwOFuJ43iu
https://dl.doubtnut.com/l/_ubo4DkYzR5TW


D. s

Answer: C

Watch Video Solution

67. In 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC, a cot A + b cot B + c cot C =

1 +
r

R

1 −
r

R

1 −
R

r

1 +
R

r

68. In ΔABC, a cot A + b cot B + c cot C =

https://dl.doubtnut.com/l/_ubo4DkYzR5TW
https://dl.doubtnut.com/l/_FMcEG0q8E1qT
https://dl.doubtnut.com/l/_kbSloAqjDgAN


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2(R + r)

1 +
r

R

2 +
r

2R

1 −
r

2R

69. In 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC, cos2 + cos2 + cos2 =
A

2
B

2

C

2

−
1

r

1

2R

1 +
r

R

2 +
r

2R

1 −
r

2R

https://dl.doubtnut.com/l/_kbSloAqjDgAN
https://dl.doubtnut.com/l/_RX0GxDonS1xW


70. In 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, sin2 + sin2 + sin2 =
A

2

B

2

C

2

−
1

r

1

2R

1 +
r

R

2 +
r

2R

1 −
r

2R

71. The length of the sides of the extriangle of an equilateral triangle in

terms of circumradius is

A. 

B. 

C. 

√3R

2√3R

√2R

https://dl.doubtnut.com/l/_RX0GxDonS1xW
https://dl.doubtnut.com/l/_MPbkuAiGfMcy
https://dl.doubtnut.com/l/_K3zkPg5eDlwa


D. 

Answer: B

View Text Solution

2√2R

72. The distance between orthocentre and circumcentre of an equilateral

triangle is

A. 1

B. 0

C. s

D. 

Answer: B

Watch Video Solution

2Δ

https://dl.doubtnut.com/l/_K3zkPg5eDlwa
https://dl.doubtnut.com/l/_RsoHtbrKyZti


73. The distance between orthocentre and circumcentre of an equilateral

triangle is

A. 0

B. 1

C. 2s

D. 

Answer: A

Watch Video Solution

2Δ

74. If  is an equilateral triangle , then the ratio of the area of the

triangle in the area of its pedal triangle is

A. 

B. 

C. 

ΔABC

1: 2

2: 3

4: 1

https://dl.doubtnut.com/l/_as46tptAZDBI
https://dl.doubtnut.com/l/_e2dpttL0vUTG


D. 

Answer: C

View Text Solution

5: 4

75. The ratio of circum radii of a triangle to its pedal triangle is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1: 2

2: 1

3: 4

3: 5

https://dl.doubtnut.com/l/_e2dpttL0vUTG
https://dl.doubtnut.com/l/_f9FsKbyA8A1s


76. IF , is an equilateral triangle, then ratio of the sides of the

triangle to its ex-centre triangle is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ΔABC

1: 2

2: 1

4: 3

5: 3

77. The distance of the orthocentre from the vertices A,B,C are in the ratio

A. 

B. 

C. 

D. None

sinA : sinB : sinC

cosA : cosB : cosC

tanA : tanB : tanC

https://dl.doubtnut.com/l/_t3n2DVZlzEy9
https://dl.doubtnut.com/l/_sBwXfdr3SLza


Answer: B

Watch Video Solution

78. In a triangle ABC let . If r is the inradius and R is the

circumradius of the the triangle ABC, then 2(r+R)=

A. b+c

B. a+b

C. a+b+c

D. c+a

Answer: B

Watch Video Solution

∠C = π/2

79. The perimeter of a triangle is 16 cm. One of the sides is of length 6 cm.

iF the area of the triangle is 12 sq cm, then the triangle is

https://dl.doubtnut.com/l/_sBwXfdr3SLza
https://dl.doubtnut.com/l/_M9NmKQKmcWmP
https://dl.doubtnut.com/l/_ymxAs0FSiwel


A. right angled

B. Isosceles

C. equilateral

D. Scalene

Answer: B

Watch Video Solution

80. In  then 

A. 

B. 

C. 

D. 2

Answer: A

View Text Solution

ΔABC, if C = 90∘ rr3 =

r1r2

r1 − r

a + b

https://dl.doubtnut.com/l/_ymxAs0FSiwel
https://dl.doubtnut.com/l/_Nf0f5ujHR131


81. In  then 

A. 

B. 

C. 

D. 2

Answer: C

Watch Video Solution

ΔABC, if C = 90∘ 2(r + R) =

r1r2

r1 − r

a + b

82. In  then 

A. 

B. 

C. 

ΔAbc, if A = 90∘ r2 + r3 =

r1r2

r1 − r

a + b

https://dl.doubtnut.com/l/_Nf0f5ujHR131
https://dl.doubtnut.com/l/_YC5U3oFETCGs
https://dl.doubtnut.com/l/_mzUQwCaZ780c


D. 2

Answer: B

Watch Video Solution

83. In then

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

ΔABC, if A = 90∘ (1 − )(1 − ) =
r1

r2

r1

r3

84. In ΔABC, =
r1

(s − b)(s − c)

https://dl.doubtnut.com/l/_mzUQwCaZ780c
https://dl.doubtnut.com/l/_HCWF8G20FpvU
https://dl.doubtnut.com/l/_gMlOZFN9JjhZ


A. 

B. 0

C. 

D. 

Answer: D

Watch Video Solution

abc/Δ3

4Rr2

1/r

85. In 

A. 

B. 0

C. 

D. 

Answer: B

Watch Video Solution

ΔABC, ∑ (r + r1)tan( ) =
B − C

2

abc

Δ3

4Rr2

1/r

https://dl.doubtnut.com/l/_gMlOZFN9JjhZ
https://dl.doubtnut.com/l/_8WFQdhU53OxR


86. In  then the triangle is

A. isosceles

B. equilateral

C. right angled

D. none

Answer: C

Watch Video Solution

ΔABC, if (1 − )(1 − ) = 2
r1

r2

r1

r3

87. In , then triangle is

A. equilateral

B. right angled

C. isosceles

ΔABC, if (r1 − r2)(r3 − r2) = 2r1r3

https://dl.doubtnut.com/l/_8WFQdhU53OxR
https://dl.doubtnut.com/l/_9JIFKs0eqSuS
https://dl.doubtnut.com/l/_8SFhqGpVXkDb


D. none

Answer: B

View Text Solution

88. In , if a,b,c are in A.P, then  are in

A. A.P.

B. G.P.

C. H.P.

D. None

Answer: C

Watch Video Solution

ΔABC r1, r2, r3

89. In  are in H.P., then a,b,c are inΔABC, if r1, r2, r3

https://dl.doubtnut.com/l/_8SFhqGpVXkDb
https://dl.doubtnut.com/l/_z47V8kQlPZsg
https://dl.doubtnut.com/l/_S4NSMkTaYEbx


A. A.P.

B. G.P.

C. H.P.

D. None

Answer: A

Watch Video Solution

90. In  then  are

in

A. A.P.

B. G.P.

C. H.P.

D. None

Answer: B

ΔABC, if (a − b)(s − c) = (b − c)(s − a) r1, r2, r3

https://dl.doubtnut.com/l/_S4NSMkTaYEbx
https://dl.doubtnut.com/l/_3iI7QCxAW6al


Watch Video Solution

91. In , then ab+bc+ca=

A. 73

B. 81

C. 84

D. 78

Answer: C

Watch Video Solution

ΔABC, if r − 1, R = 4, Δ = 8

92. In  are in H.P., then =

A. 1

B. 2

C. 3

ΔABC, if r1, r2, r3 r2 /r

https://dl.doubtnut.com/l/_3iI7QCxAW6al
https://dl.doubtnut.com/l/_VaE4F3h2SSR1
https://dl.doubtnut.com/l/_gcfCuX1Hbo5d


D. 4

Answer: C

Watch Video Solution

93. In  then the triangle is

A. equilateral

B. right angled

C. isosceles

D. none

Answer: A

View Text Solution

ΔABC, if r1 = r2 = r3

94. In , then the triangle isΔABC, if rr1 = r2r3

https://dl.doubtnut.com/l/_gcfCuX1Hbo5d
https://dl.doubtnut.com/l/_hPaN8Lviia7f
https://dl.doubtnut.com/l/_nMyZa1e7LWlF


A. isosceles

B. equilateral

C. right angled

D. none

Answer: C

Watch Video Solution

95. In  the roots of the equation 

 are

A. 

B. 

C. 

D. 

Answer: D

ΔABC

x3 − (r + 4R)x2 + s2x − s2r = 0

r, r1, r2

r, r2, r3

r, r1, r3

r1, r2, r3

https://dl.doubtnut.com/l/_nMyZa1e7LWlF
https://dl.doubtnut.com/l/_gNDL8I5xVsgA


Watch Video Solution

96. In , if  then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC r1 < r2 < r3

a < b < c

a > b > c

b < a < c

a < c < b

97. In , then 

A. 

B. 

C. 

ΔABC, if 2r1 = 3r2 = r3 a : b : c =

4: 3: 5

3: 4: 5

5: 3: 4

https://dl.doubtnut.com/l/_gNDL8I5xVsgA
https://dl.doubtnut.com/l/_FEWV6FFaNDfU
https://dl.doubtnut.com/l/_C7Ue60BR7tdL


D. 

Answer: A

Watch Video Solution

3: 5: 4

98. In  then cos A+ cos B+ cos C=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, if 4r = 3R

1/4

3/4

5/4

7/4

https://dl.doubtnut.com/l/_C7Ue60BR7tdL
https://dl.doubtnut.com/l/_LaewYWyPg4Zn


99. In  is H is the orthocentre of  and x= AH, y=BH, z=CH,

then x+y+z=

A. r+R

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔABC ΔABC

2(r + R)

(r + R)
1

2

2(r − R)

100. If the line joining the circumcentre 'O' and the incentre I is parallel to

BC, then  =

A. 

B. 1

C. 

cosB + cosC

3/2

3/4

https://dl.doubtnut.com/l/_n98eaychoyZu
https://dl.doubtnut.com/l/_r8oY40JbUUjt


D. 2

Answer: B

Watch Video Solution

101. In  then the triangle is

A. isosceles

B. equilateral

C. right angled

D. none

Answer: C

Watch Video Solution

ΔABC, if 2R + r = r1

https://dl.doubtnut.com/l/_r8oY40JbUUjt
https://dl.doubtnut.com/l/_I0oN0tIdt1oK


102. If  are the areas of incircle and ex-circle of a triangle

respectively then prove that 

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

A, A1, A2, A3

+ + =
1

√A1

1

√A2

1

√A3

1

√A

2/√A

3/√A

1/√A

103. The ratio of the area of the incircle to the area of  is

A. 

B. 

C. 

ΔABC

π

sinA sinB sinC

π

cot(A/2)cot(B/2)cot(C /2)

π

cot(A/2)tan(B/2)tan(C /2)

https://dl.doubtnut.com/l/_zjXdeprcZOto
https://dl.doubtnut.com/l/_e6UEmtfT5UbH


D. None

Answer: B

Watch Video Solution

104. If  are altitudes of a  then show that 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

p1, p2, p3 ΔABC

+ + =
1

p1

1

p2

1

p3

1

r

1/r

1/r1

1/r2

1/r3

https://dl.doubtnut.com/l/_e6UEmtfT5UbH
https://dl.doubtnut.com/l/_eDLv8bRDLmWp


105. IF  are the lengths of the altitudes of a triangle from the

vertices A,B,C then 

A. 

B. 

C. 

D. 2R

Answer: C

Watch Video Solution

p1, p2, p3

1/p1
2 + 1/p2

2 + 1/p2
3 =

2ab cos2 C /2

Δ(a + b + c)

1

R

cot A + cot B + cot C

Δ

106. IF  are the lengths of the altitudes of a triangle from the

vertices A,B,C then 1/p_1+1/p_2 -1/p_3=`

A. 

B. 

C. 

p1, p2, p3

2ab cos2 C /2

Δ(a + b + c)

1

R

cot A + cot B + cot C

Δ

https://dl.doubtnut.com/l/_a9w9NBz8nlpq
https://dl.doubtnut.com/l/_73zXftdtOGfE


D. 2R

Answer: A

Watch Video Solution

107. IF  are the lengths of the altitudes of a triangle from the

vertices A,B,C then 

A. 

B. 

C. 

D. 2R

Answer: B

Watch Video Solution

p1, p2, p3

+ + =
cosA

p1

cosB
p2

cosC

p3

2ab cos2 C /2

Δ(a + b + c)

1

R

cot A + cot B + cot C

Δ

https://dl.doubtnut.com/l/_73zXftdtOGfE
https://dl.doubtnut.com/l/_wvj8eaHM8cVO


108. IF  are the lengths of the altitudes from the vertices of 

 to the opposite sides, then 

A. 

B. 

C. 

D. 2

Answer: D

Watch Video Solution

p1, p2, p3

ΔABC + + =
a cot A

p1

b cot B

p2

c cot C

p3

1/r

1/R

1/r3

109. IF  are the lengths of the altitudes from the vertices of 

 to the opposite sides, then =

A. 

B. 

C. 

p1, p2, p3

ΔABC p1p2p3

1/r

1/R

1/r3

https://dl.doubtnut.com/l/_Z3vidgvbk6rj
https://dl.doubtnut.com/l/_8uUq66jiwn52


D. 8'delta'^(3)/abc

Answer: D

Watch Video Solution

110. If in a triangle ABC, the altitudes from the A,B,C on opposite sides are

in H.P. then sinA, sin B, sin C are in

A. G.P.

B. A.P.

C. Arithmetic- Geometric Progression

D. H.P.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8uUq66jiwn52
https://dl.doubtnut.com/l/_CGoErPRx9zEV


EXERCISE 1C

111. If  are such that , then

aa'=

A. 

B. bb'+cc'

C. aa'+cc'

D. None

Answer: B

View Text Solution

ΔABC, A'B'C' B = B' , A + A' = 180∘

aa' + ′

1. From the top a mast of 180 mt high, the angle of depression of an

object is  The distance of the object from the ship is

A. 

60∘

180√3

https://dl.doubtnut.com/l/_j95osXgysjGQ
https://dl.doubtnut.com/l/_BAXdgvRDq93I


B. 

C. 60

D. 

Answer: B

Watch Video Solution

60√3

60/√3

2. From the top of a building h meters, the angle of depression of an

object on the ground is . the distance( in meter) of the object from the

foot of the building is

A. 

B. 

C. 

D. 

Answer: A

α

h cot α

h tanα

h cosα

h sinα

https://dl.doubtnut.com/l/_BAXdgvRDq93I
https://dl.doubtnut.com/l/_Ifqt3xz2y980


Watch Video Solution

3. If a flag staff of 6 mt high placed on the top of a tower throws a

shadow of  mt along the ground then the angle that the Sun makes

with the ground is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2√3

45∘

30∘

75∘

60∘

4. The shadow of the tower standing on a level ground is found to be 60

metres longer when the sun's altitude is  then when it is . The

height of the tower is

30∘ 45∘

https://dl.doubtnut.com/l/_Ifqt3xz2y980
https://dl.doubtnut.com/l/_vbbKB4irLv7e
https://dl.doubtnut.com/l/_j8MrdpshtXnL


A. 60 m

B. 30 m

C. 

D. 

Answer: D

Watch Video Solution

60√3m

30(√3 + 1)m

5. The sum of angles of elevation of the top of a tower from two points

distance a and b from the base and in the same straight line with it is

. Then the height of the tower is :

A. 

B. 

C. 

D. ab

90∘

a2b

ab2

√ab

https://dl.doubtnut.com/l/_j8MrdpshtXnL
https://dl.doubtnut.com/l/_KnacHxKjU1kZ


Answer: C

Watch Video Solution

6. AB is a vertical pole with B at the ground level and and A at the top .A

man finds that the angle of elevation of the point A from a certain point C

on the ground is  . He moves away from the pole along the line BC to

a point D such that CD = 7 m .From D . the angle of elevation of the point

A is  .Find the height of the pole .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

45∘

(√3 + 1)m
7√3

2

(√3 − 1)m
7√3

2

m
7√3

21

1

√3 + 1

m
7√3

21

1

√3 − 1

https://dl.doubtnut.com/l/_KnacHxKjU1kZ
https://dl.doubtnut.com/l/_o24UzIHma5Ms
https://dl.doubtnut.com/l/_jI22CIN1DadN


7. A person walking along a straight road towards a hill observes at two

points distances  km. The angle of elevation of the hill to be  and 

. The height of the hill is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√3 30∘

60∘

km
3

2

km
√2

3

km
√3 + 1

2

√3km

8. The angle of elevation of an object from a point P on the level ground

is a. Moving d metres on the ground towards the object, the angle of

elevation is found to be . Then the height (in metres) of the object is

A. 

β

d tanα

https://dl.doubtnut.com/l/_jI22CIN1DadN
https://dl.doubtnut.com/l/_oaqGiPcSKuf2


B. 

C. 

D. 

Answer: D

Watch Video Solution

d cot β

d

cot α + ββ

d

cot α − cot β

9. The angle of elevation of the top of a tower from a point on the same

level as the foot of the tower is . On moving 100 metres towards the

tower, the angle of elevation increases to . The height of the tower is

A. 50

B. 100

C. 150

D. 200

Answer: A

15∘

30∘

https://dl.doubtnut.com/l/_oaqGiPcSKuf2
https://dl.doubtnut.com/l/_0hSnG4WBplNO


Watch Video Solution

10. From a point on the level ground, the angle of elevation of the top of

a pole is . On moving 20 metres nearer, the angle of elevation is .

Then the height of the pole, in metres , is

A. 

B. 

C. 15

D. 20

Answer: B

Watch Video Solution

30∘ 45∘

10(√3 − 1)

10(√3 + 1)

11. The elevation of an object on a hill is observed from a certain point in

the horizontal plane through its base, to be . After walking 120 metres30∘

https://dl.doubtnut.com/l/_0hSnG4WBplNO
https://dl.doubtnut.com/l/_NihbokrEvWR2
https://dl.doubtnut.com/l/_8TgCdgl64CKU


towards it on level ground the elevation is found to be  . Then the

height of the object (in metres ) is

A. 120

B. 

C. 

D. 60

Answer: B

Watch Video Solution

60∘

60√3

120√3

12. A tower, of x metres high, has a flagstaff at its top. The tower and the

flagstaff subtend equal angles at a point distant y metres from the foot

of the tower. Then the length of the flagstaff in metres in

A. 

B. 

C. 

y(x2 − y2)

(x2 + y2)

x(y2 + x2)

(y2 − x2)

x(x2 + y2)

(x2 − y2)

https://dl.doubtnut.com/l/_8TgCdgl64CKU
https://dl.doubtnut.com/l/_Zd7H1R52xcgr


D. 

Answer: B

Watch Video Solution

x(x2 − y2)

(x2 + y2)

13. A flag staff of length 'd' stands on tower of height h. IF at a point on

the ground the angle of elevation of the tower and top of the flag staff

be  then h=

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

α, β

d cot β

cot α − cot β

d tanβ

cot α − cot β

d cot β

cot α − cot β

https://dl.doubtnut.com/l/_Zd7H1R52xcgr
https://dl.doubtnut.com/l/_l0qwwvuv4qky
https://dl.doubtnut.com/l/_rMG3jptYVP9S


14. The angles of elevation of a tower from two points which are at

distances and  from the foot of the tower on the same side are

complementary. The height of the tower is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

h1 h2

√h1h2

h1h2

h1 /h2

√h1 /h2

15. A flag staff on the top of the tower 80 mt of height subtends an angle

 at a point on the ground 100 mt from the foot of the tower.

The height of the flag staff is

A. 19 mt

B. 20 mt

tan− 1(1/9)

https://dl.doubtnut.com/l/_rMG3jptYVP9S
https://dl.doubtnut.com/l/_6CAc7tVLbzOp


C. 21 mt

D. 22 mt

Answer: B

Watch Video Solution

16. The angles of elevation of a cliff at a point A on the ground and at a

point B, 100 mt vertically at A are  respectively. The height of the

cliff in mt is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α and β

100 tanβ

cot β − cot α

100 cot β

cot β − cot α

100 tanβ

cot α + cot β

100 cot β

cot α + cot β

https://dl.doubtnut.com/l/_6CAc7tVLbzOp
https://dl.doubtnut.com/l/_WbiCsVEw3nHR


17. The top of a hill observed from the top and bottom of a building of

height h is at angle of elevation p and q respectively. The height of the

hill is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

h cot p

cot p − cot q

h cot q

cot p − cot q

h cot p

cot p + cot q

h cot q

cot p + cot q

18. A flag staff of 5 mts high stands on a building of 25 mt high. At an

observer at a height of 30 mt the flag staff and the building subtend

equal angles. The distance of the observer from the top of the flag staff is

A. 5√3

https://dl.doubtnut.com/l/_WbiCsVEw3nHR
https://dl.doubtnut.com/l/_FBzrOaJrrd85
https://dl.doubtnut.com/l/_iJFIwGUr2f8X


B. 

C. 

D. 

Answer: D

Watch Video Solution

5√2

5√6

5√3

√2

19. From the top of a building 60 m high the angle of elevation of the top

of a tower is found to be angle of depression of the foot of the tower. The

height of the tower in meter is

A. 100

B. 90

C. 120

D. 105

Answer: C

https://dl.doubtnut.com/l/_iJFIwGUr2f8X
https://dl.doubtnut.com/l/_jIiIoHTWKzgc


Watch Video Solution

20. The horizontal distance between two towers is 60m and the angular

depression of the top of the first as seen from the second, which is 150 m

hight is . The height of the first tower is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

30∘

(150 + 20√3)m

(150 + 15√3)m

(150 − 20√5)m

(150 − 20√3)m

21. From the top of a cliff 60 mt high, the angles of depression of top and

bottom of a tower are . The height of the tower is30∘ , 60∘

https://dl.doubtnut.com/l/_jIiIoHTWKzgc
https://dl.doubtnut.com/l/_QO7keRyc66oi
https://dl.doubtnut.com/l/_J22KdnBWRdEi


A. 40 mt

B. 50 mt

C. 60 mt

D. 30 mt

Answer: A

Watch Video Solution

22. From the top of the hill h metres high the angles of depression of the

top and the bottom of a pillar are  respectively. The height ( in

metres) of the pillar is

A. 

B. 

C. 

D. 

α and β

h(tanβ − tanα)

tanβ

h(tanα − tanβ)

tanα

h(tanβ + tanα)

tanβ

h(tanβ + tanα)

tanα

https://dl.doubtnut.com/l/_J22KdnBWRdEi
https://dl.doubtnut.com/l/_mNDDjeMJVQGm


Answer: A

View Text Solution

23. These are two towers on a horizontal line. From the mid point of the

line joining their feet, the tops of the towers appear at angles of

elevation of  and  respectively. The first tower has a height of 100

m. The height of the second tower is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘ 30∘

m
100

√3

m
100

5

(√2)100m

m
100

3

https://dl.doubtnut.com/l/_mNDDjeMJVQGm
https://dl.doubtnut.com/l/_esLVNFV0Ye8c


24. The angles of elevation of the tops of two vertical towers as seen from

the middle point of the line joining the foot of the towers are 

respectively. The ratio of the heights of the towers is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘ , 30∘

2: 1

√3: 1

3: 2

3: 1

25. P is a point on the segment joining the feet to vertical poles of

heights a and b, The angles of elevation of the tops of the poles from P

are  each. Then the square of the distance between the tops of the

poles is:

45∘

https://dl.doubtnut.com/l/_MJXXidQM3ScZ
https://dl.doubtnut.com/l/_FI2kVCPupGAU


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2 + b2

2

a2 + b2

2(a2 + b2)

4(a2 + b2)

26. A tower subtends angles  respectively at points A,B and C all

lying on a horizontal line through the foot of the tower, Then 

A. 

B. 

C. 

D. 

Answer: B

α, 2α, 3α

=
AB

BC

sin 3α

sin 2α

1 + 2 cos 2α

2 + cos 2α

sin 2α

sinα

https://dl.doubtnut.com/l/_FI2kVCPupGAU
https://dl.doubtnut.com/l/_A6GjwTRSsP06


Watch Video Solution

27. The angle of elevation of a cloud from a point h mt above the surface

of a lake is  and the angle of depression of its reflection in the lake is .

The height of the cloud is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

θ φ

h sin(φ + θ)

sin(φ − θ)

h sin(φ − θ)

sin(φ + θ)

h sin(θ + φ)

sin(θ − φ)

h sin(θ − φ)

sin(θ + φ)

28. The angle of elevation of a stationary cloud from a point 2500 mt

above a lake is  and the angle of depression of its reflection in the

lake is . The height of the cloud is

15∘

45∘

https://dl.doubtnut.com/l/_A6GjwTRSsP06
https://dl.doubtnut.com/l/_QyjGDwKp6voX
https://dl.doubtnut.com/l/_FTlXlDhuHsiB


A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

2500/√3mt

2500mt

2500√3mt

29. The angle of elevation of the top of the tower observed from each of

the three points A,B,C on the ground, forming a triangle is the same

anlge . IF R is the circumradius of the , then the height of the

tower is

A. 

B. 

C. 

D. 

α ΔABC

R sinα

R cosα

R cot α

R tanα

https://dl.doubtnut.com/l/_FTlXlDhuHsiB
https://dl.doubtnut.com/l/_FAICHImSSkHJ


Answer: D

Watch Video Solution

30. A person stading on the bank of a river observerves that the angle of

elevation of the top of the tree on the opposite bank of the river is 

and when he retires 40 meters away from the tree the angle of elevation

becomes . The breadth of the river is

A. 20 m

B. 60 m

C. 40 m

D. 30 m

Answer: A

Watch Video Solution

60∘

30∘

https://dl.doubtnut.com/l/_FAICHImSSkHJ
https://dl.doubtnut.com/l/_cLnPF1WkUUVe


31. ABC is a triangular park with AB=AC=100 meters. A clock tower is

situated at the mid point of BC. The angles of elevation of the tower at A

and B are  respectively. The height of the

tower is

A. 100 mt

B. 50 mt

C. 25 mt

D. 

Answer: C

Watch Video Solution

cot1(3.2) and cosec − 1(2.6)

50√3mt

32. An aeroplane flying with uniform speed horizontally one kilometer

above the ground id observed at an elevation of . Aftar 10s if the

elevation is observed to be , then the speed of the aeroplane (in

km/h) is

60∘

30∘

https://dl.doubtnut.com/l/_zFIDNZ6SyEUc
https://dl.doubtnut.com/l/_5gCrPI14S5kJ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

240/√3

200√3

240√3

120/√3

33. The upper  portion of a vertical pole subtends an angle 

 at a point in the horizontal plane through its foot and at a

distance 40 m from the foot . Given that the vertical pole is at a height

less than 100m from the gound ,find its height .

A. 20m

B. 40m

C. 60m

D. 80m

3/4th

tan− 1(3/5)

https://dl.doubtnut.com/l/_5gCrPI14S5kJ
https://dl.doubtnut.com/l/_svS7PW7cqniU


Answer: A

Watch Video Solution

34. A vertical pole subtends an angle  at a point P on the

ground. IF the angles subtended by the upper half and the lower half of

the pole at P are respectively , then =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1( )
1

2

α and β (tanα, tanβ)

( , )
1

4

1

5

( , )
1

5

2

9

( , )
2

9

1

4

( , )
1

4

2

9

https://dl.doubtnut.com/l/_svS7PW7cqniU
https://dl.doubtnut.com/l/_AgmlLIeatFli


35. The angle of elevation of a stationar cloud from a point 2500 m above

a lake is  and from the same point the angle of depression of its

reflectin in the lake is . The height (in meters) of the cloud above the

lake, given that , is

A. 2500

B. 

C. 

D. 

Answer: C

Watch Video Solution

15∘

45∘

cot 15∘ = 2 + √3

2500√2

2500√3

5000

36. A lamp post is sittuated at the middle point M of the side AC of a

triangular plot ABC with BC=m CA =8 m and AB =9 m. Lamp post subleds

an anlgle  at the point B. The height of the lamp post is15∘

https://dl.doubtnut.com/l/_hAk4QgevXS8f
https://dl.doubtnut.com/l/_kZ9JSLcAsm8F


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 − √3

√3 − 2

7(2 − √3)

7(√3 − 2)

37. A tree stands vertically on the slant of the hills From a point A on the

ground 35 meters. Down the hill from the base of the tree , the angle of

elevation of the top of the tree is . If the angle of elevation of the foot

of the tree A is  then the height of the tree.

A. 

B. 

C. 

D. 

60∘

15∘ ,

5√2

7√2

25√2

35√2

https://dl.doubtnut.com/l/_kZ9JSLcAsm8F
https://dl.doubtnut.com/l/_0XqyYYqdqYae


Answer: D

Watch Video Solution

38. An object is placed at a distance of 10 cm from a convex mirror of focal

length 15 cm. Find the position and nature of the image.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3√2

7√2

25√2

35√2

39. Two ships leave a port at the same time . One goes 24km per hour in

the direction  E and other travels 32km per hour in the direction N45∘

https://dl.doubtnut.com/l/_0XqyYYqdqYae
https://dl.doubtnut.com/l/_li3xbVL0sFZW
https://dl.doubtnut.com/l/_7g41N5xrZBCf


 then the distance between the ships at the end of 3 hours

A. 7488

B. 

C. 5184

D. 

Answer: B

Watch Video Solution

S75∘E.

√7488

√5184

40. Two trees A and B are on the same side of a river. From a point C in

the river the distances of the trees A and B are 250 m and 300 m

respectively. IF the angle C is , the distance the trees is

A. 215.5

B. 225.5

C. 215

45∘

https://dl.doubtnut.com/l/_7g41N5xrZBCf
https://dl.doubtnut.com/l/_y2tnZMgjWvvM


D. 225

Answer: A

Watch Video Solution

41. The angle of elevation of the toop point P of the vertical tower PQ of

height h from a point A  and from a point B is  , where B is a point

at a distance 30 meters from the point A measured along the line AB

which makes an angle  with AQ . Then the height of the tower is.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

45∘ 60∘

30∘

5(√3 + 1)

10(√3 + 1)

15(√3 + 1)

20(√3 + 1)

https://dl.doubtnut.com/l/_y2tnZMgjWvvM
https://dl.doubtnut.com/l/_513O43pIfhT9


42. AB is a vertical pole with B at the ground level and and A at the top .A

man finds that the angle of elevation of the point A from a certain point C

on the ground is  . He moves away from the pole along the line BC to

a point D such that CD = 7 m .From D . the angle of elevation of the point

A is  .Find the height of the pole .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

60∘

45∘

7(3 + √3)

(3 + √3)
7
2

(3 + √3)
7
3

(3 + √3)
7
4

43. A person observes the top of a tower from a point A on the ground.

the elevation of the tower from this point is . He moves 60 m in the

direction prpendicular to the line joining A and base of the tower. The

60∘

https://dl.doubtnut.com/l/_6pukfDJ89d5l
https://dl.doubtnut.com/l/_9ow4m0cYKsI9


angle of elevation of the tower from this point is . Then the height of

the tower (in meters) is _____

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

45∘

60
√3

2

60√2

60√3

60
√2

3

44. A bird is sitting on the top of a vertical pole 20 m high and its

elevation from a point O on the ground is . It flies off horizontally

straight away from the point O. After one second, the elevation of the

bird from O is reduced to . Then the speed ( in ) of the bird is

A. 

B. 

45∘

30∘ m/s

20√2

20(√3 − 1)

https://dl.doubtnut.com/l/_9ow4m0cYKsI9
https://dl.doubtnut.com/l/_xzxD8kai896O


C. 

D. 

Answer: B

Watch Video Solution

40(√2 − 1)

40(√3 − √2)

45. ABCD is a trapezium such that AB and CD are parallel and .

If  then AB is equal to ......

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BC ⊥ CD

∠ADB = θ, BC = p and CD = q

p2 + q2

p2 cos θ + q2 sin θ

(p2 + q2)sin θ

(p cos + q sin θ)2

(p2 + q2)sin θ

p cos θ + q sin θ

p2 + q2 cos θ

p cos θ + q sin θ

https://dl.doubtnut.com/l/_xzxD8kai896O
https://dl.doubtnut.com/l/_GlryTSxX9T56


EXERCISE 2 (SPECIAL TYPE QUESTIONS) SET 1

1. Which of the following statements is true 

I : If  then  


II If  in a  then it is right angled

A. only I is true

B. only II is true

C. both I, II are true

D. neither I nor II is true

Answer: B

Watch Video Solution

(a + b + c)(a + b − c) = ab ∠C = 60∘

sin2 A + sin2 B + sinC = 2 ΔABC

2. I: In a , if a=3,b=4,  the number of possible triangles is

2 

II. In a 

ΔABC ∠A = 30∘

ΔABC, = R
(a + b)cosC + (b + c)cosA + (c + a)cosB

sinA + sinB + sinC

https://dl.doubtnut.com/l/_5I0fh1EmRMQc
https://dl.doubtnut.com/l/_47q4axwGpxtn


A. only I is true

B. only II is true

C. both I, II are true

D. neither I nor II is true

Answer: A

View Text Solution

3. I: In a , if a= R tan A then  


II: In a  if sin A+ sin B+ sin C is maximum then triangle is

equilateral

A. only I is true

B. only II is true

C. both I, II are true

D. neither I nor II is true

ΔABC b2 + c2 = bc + a2

ΔABC

https://dl.doubtnut.com/l/_47q4axwGpxtn
https://dl.doubtnut.com/l/_131tmqFcKWjt


Answer: C

View Text Solution

4. I: In a  then it is right

angled triangle 

II: In a  is maximum then triangle is

equilateral

A. only I is true

B. only II is true

C. both I, II are true

D. neither I nor II is true

Answer: C

View Text Solution

ΔABC, if 4s(s − a)(s − b)(s − c) = a2b2

ΔABC, sinA + sinB + sinC

https://dl.doubtnut.com/l/_131tmqFcKWjt
https://dl.doubtnut.com/l/_GqYaAU93RYoR


5. In  then  are in

A. only I is true

B. only II is true

C. both I, II are true

D. neither I nor II is true

Answer: A

Watch Video Solution

ΔABC, if (a − b)(s − c) = (b − c)(s − a) r1, r2, r3

6. In , then the triangle is

A. only I is true

B. only II is true

C. both I, II are true

D. neither I nor II is true

ΔABC, if rr1 = r2r3

https://dl.doubtnut.com/l/_UNrO1P2YcaW3
https://dl.doubtnut.com/l/_XCynIObP1DhL


Answer: D

Watch Video Solution

7. In a  then the triangle is equilateral 


II: In a 

A. only I is true

B. only II is true

C. both I, II are true

D. neither I nor II is true

Answer: D

View Text Solution

ΔABC, if r1 = s

ΔABC, r = (s − b)cot(C /2)

8. In  the correct formule among the following are 


Statement -I :  


ΔABC,

r = 4R sin sin sin
A

2
B

2

C

2

https://dl.doubtnut.com/l/_XCynIObP1DhL
https://dl.doubtnut.com/l/_RyDriVHnr9YN
https://dl.doubtnut.com/l/_nGEwSo2BJ2rQ


Statement -II :  


Statement-III 

A. only I, II

B. only II, III

C. only I, III

D. I, II, III

Answer: C

Watch Video Solution

r1 = (s − a)tan
A

2

: r3 =
Δ

s − c

9. In  with usual notation observe the two statements given

below 

Statement -I  


Statement -II :  


Which of the following statement is correct

A. Both I and II are true

ΔABC,

: rr1r2r3 = Δ2

r1r2 + r2r3 + r3r1 = s2

https://dl.doubtnut.com/l/_nGEwSo2BJ2rQ
https://dl.doubtnut.com/l/_VKRAJPXgH0ok


B. I is true, II is false

C. I is false, II is true

D. Both I and II are false

Answer: A

Watch Video Solution

10. Observe the following statements: 

I) In II. In 

 


Which of the following correct?

A. Both I and II are true

B. I is true, II is false

C. I is false, II is true

D. Both I and II are false

ΔABC, b cos2 + c cos2 = s
C

2

B

2

ΔABC, cot = ⇒ B = 90∘A

2
b + c

2

https://dl.doubtnut.com/l/_VKRAJPXgH0ok
https://dl.doubtnut.com/l/_h4jFzApKEZMM


EXERCISE 2 (SPECIAL TYPE QUESTIONS) Set -2

Answer: B

View Text Solution

1. The ascending order of  when 

 when s=3a,  When

a,b,c are in A.P.is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

α = cot cot
A

2

C

2

s = 4b, β = cot cot
B

2

C

2
γ = cos cos ec

A − C

2

B

2

α, β, γ

β, α, γ

γ, α, β

α, γ, β

https://dl.doubtnut.com/l/_h4jFzApKEZMM
https://dl.doubtnut.com/l/_wIQb1ga3E3es
https://dl.doubtnut.com/l/_FKLaRTgum1gx


2. In a  and if 

 then ascending order of  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

ΔABC, A > C and A − C = 90∘ and a + b = 2b

α = sin , β = cos , γ = tan
B

2
B

2
B

2
α, β, γ

α, β, γ

β, α, γ

γ, α, β

α, γ, β

3. IF  in a 

then ascending order of angles A,B,C is

A. A,B,C

B. A,C,B

C. B,A,C

(a + b)2 = c2 + ab ΔABC and if √2(sinA + cosA) = √3

https://dl.doubtnut.com/l/_FKLaRTgum1gx
https://dl.doubtnut.com/l/_0XWnlCAYtZh3


D. C,B,A

Answer: B

View Text Solution

4. If a= 30, b = 18, c = 24 then the descending order of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r1, r2, r3

r1, r3, r2

r3, r2, r1

r2, r3, r1

r1, r2, r3

5. In  then c=ΔABC, if r1 = 3, r2 = 10, r3 = 15,

https://dl.doubtnut.com/l/_0XWnlCAYtZh3
https://dl.doubtnut.com/l/_Ib5KljGC8kaY
https://dl.doubtnut.com/l/_D0bKlHO5nNqy


EXERCISE 2 (SPECIAL TYPE QUESTIONS) Set -3

A. a,b,c

B. b,c,a

C. c,a,b

D. c,b,a

Answer: D

Watch Video Solution

1. Match the following 

A. a,b,c,d

https://dl.doubtnut.com/l/_D0bKlHO5nNqy
https://dl.doubtnut.com/l/_CSOVkIocIE2D


B. a,d,c,b

C. d,a,b,c

D. a,c,d,b

Answer: B

View Text Solution

2. Match the following 

A. a,b,d,c

B. c,d,a,b

C. d,a,b,c

D. a,c,d,b

https://dl.doubtnut.com/l/_CSOVkIocIE2D
https://dl.doubtnut.com/l/_Iy0leab4ssOr


Answer: A

View Text Solution

3. Match the following 

A. b,d,a,c

B. c,b,e,d

C. d,a,b,e

D. e,c,d,a

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_Iy0leab4ssOr
https://dl.doubtnut.com/l/_Ie0yuSitsR7p


4. Match the following 

A. e,b,d,c

B. b,a,c,d

C. a,d,b,a

D. d,c,a,c

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_aI7VRxSyRKOM


5. Match the following 

A. d,e,a,b

B. b,c,a,e

C. a,b,d,c

D. c,d,b,e

Answer: B

View Text Solution

6. Match the following 

https://dl.doubtnut.com/l/_WZ6StAzKhNaj
https://dl.doubtnut.com/l/_zCNIpm2Nga1E


A. a,b,d,e

B. c,d,b,a

C. b,a,e,c

D. d,e,c,b

Answer: C

View Text Solution

7. Match the following 

A. a,b,c,d

B. c,a,e,d

C. b,a,c,d

D. b,c,a,e

https://dl.doubtnut.com/l/_zCNIpm2Nga1E
https://dl.doubtnut.com/l/_wIyff9myKjQW


EXERCISE 2 (SPECIAL TYPE QUESTIONS) Set-4

Answer: D

View Text Solution

1. A: In a , if the sides a,b,c are in A.P. then 

 


R: In a , if A,B,C are in A.P. then 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

View Text Solution

ΔABC

a cos2 + c cos2 = 3b
C

2

A

2

ΔABC B = π/3

https://dl.doubtnut.com/l/_wIyff9myKjQW
https://dl.doubtnut.com/l/_Ce2UxXxX7Ngr
https://dl.doubtnut.com/l/_5RSOPRWkIzAi


2. A: In a  


R: In an equilateral triangle , 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

View Text Solution

ΔABC, r1r2r3 = s2

r :R : r1 = 1: 4: 5

3. A: In a  if  


R: In a 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

ΔABC(a + b + c)(b + c − a) = Abc 0 < λ < 4

ΔABC, − 1 ≤ cosA ≤ 1

https://dl.doubtnut.com/l/_5RSOPRWkIzAi
https://dl.doubtnut.com/l/_IOzHdjWUt7pA


D. A is false, R is true

Answer: C

View Text Solution

4. A: In a  then . 


R: In a  then 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

View Text Solution

ΔABC, if r1 = 2r2 = 3r3 a : b = 5: 4

ΔABC, if xr1 = yr2 = zr3 = (x + y + z)r

a : b : c = y + z : z + x : x + j

https://dl.doubtnut.com/l/_IOzHdjWUt7pA
https://dl.doubtnut.com/l/_9hqU7xxawUIO
https://dl.doubtnut.com/l/_yG0dZiJjlYJo


5. A: There is no triangle ABC for  


R: IF  then 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

View Text Solution

A = tan− 1 2, B = tan− 1 3

x > 0, y > 0 and xy > 1

tan− 1 x + tan− 1 y = π + tan− 1( )
x + y

1 − xy

6. A: In a , if A,B,C are in A.P. and triangle is equilateral cos A+2 cos

B+ cos C=2 

R: In a , if A,B,C are in A.P. and cos A+ cos B+ cos C=2 then the

triangle is isosceles.

A. A is true, R is true and R is correct explanation of A

ΔABC

ΔABC

https://dl.doubtnut.com/l/_yG0dZiJjlYJo
https://dl.doubtnut.com/l/_FQrtLRRCla0U


B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

View Text Solution

7. A:In  are in H.P. then  


R: In 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

View Text Solution

ΔABC, if r1, r2, r3 r2 /r = 1/3

ΔABC, + + =
1

r1

1

r2

1

r3

2

r

https://dl.doubtnut.com/l/_FQrtLRRCla0U
https://dl.doubtnut.com/l/_g8SP3ABoRcYP


8. A: In a  then the triangle is right

angled. 

R: In a 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: C

View Text Solution

ΔABC, (1 − )(1 − ) = 2
r1

r2

r1

r2

ΔABC, r1r2 + r2r3 + r3r1 = 2r2

9. A: IF In a  then a,b,c are In A.P. 


R: In a 

A. A is true, R is true and R is correct explanation of A

ΔABC, c cos2 + a cos2 =
A

2

C

2
3b
2

ΔABC, a cosC + c cosA = b

https://dl.doubtnut.com/l/_g8SP3ABoRcYP
https://dl.doubtnut.com/l/_XBAnWlRIGFCy
https://dl.doubtnut.com/l/_feu6Tk89vhLi


B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: A

View Text Solution

10. A: In a  then  


R: In a 

A. A is true, R is true and R is correct explanation of A

B. A is true, R is true and R is not correct explanation of A

C. A is true, R is false

D. A is false, R is true

Answer: D

View Text Solution

ΔABC, Δ = a2 − (b − c)
2

tan =
A

2

1

2

ΔABC, tan =
A

2

Δ

(s − b)(s − c)

https://dl.doubtnut.com/l/_feu6Tk89vhLi
https://dl.doubtnut.com/l/_pJ6jt8uuNPI2


https://dl.doubtnut.com/l/_pJ6jt8uuNPI2

